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ADVERTISEMENT TO THE SECOND EDITION.

Mg. HanN's Rudimentary Treatise on Plane Trigonometry
having been carefully revised and corrected, the publisher
submits this new edition to the judgment of Mathematical
Teachers and Students with an increased amount of confi-
dence. He would also respectfully invite their attention to
his cheap collection of Mathematical Tables, forming Vols.
94 and 95 of his Series of Scientific Treatises; they will be
found amply sufhcient for all the practical purposes of Tri-
gonometry, and will therefore furnish every necessary aid
in computations connected with the present subject. The
following brief extract, from the Author’s Preface to the
former edition, 1s perhaps sufficiently descriptive of the
character of the work:

“I have given, to illustrate the principles, a great
number of examples fully worked out, and which I hope
will be of service to.those who have not the aid of a teacher.

“In compiling the work, the best authors, whether
French or English, have been consulted. I may refer to the
excellent Works of Bonnycastle, Cape, De Morgan, Gaskin,
Hall, Hind, Hymers, Snowball, Woodhouse, and Gregory ;
and to Davies’s edition of Hutton’s Course.

“ The problems have been principally taken from the
Ladies and Gentleman’s Diaries, the Cambridge Problems,
and Leybourn’s Repository.

“The demonstration of Demoivre’s Theorem is taken
from an able French work on Trigonometry, by Lefebure
De Fourcy.”

J. HANN.
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TRIGONOMETRY.

CHAPTER L

1. TricoNoMETRY was originally considered to be the
doctrine of triangles, but in its present improved state it has
a much more extensive signification, which we shall here-
after shew even in this rudimentary treatise.

2. In estimating angular measures, we suppose the right
angle to be the primary one, and to be divided into 90 equal
parts, each of which is called a degree; each degree is
supposed to be divided into 60 equal parts, each of which is
called a minute ; each minute is supposed to be divided into
60 equal parts, each of which is called a second, and so on
to thirds, fourths, &c. Here one degree is considered as the
angular unit.

3. Modern French writers, instead of using the sexage-
simal division, use the centesimal ; and it is to be regretted
that the latter is not universally used, from the great ease
with which all calculations are made in that division.

We shall, however, shew how to reduce French into
English measures, and vice versd.

If E and F represent the number of English degrees and
French grades in the same angle,

E_F,E_F
90 100 9 10’

g 9F o F 108 E
..E_]~6—F lO’andF—__f)-_E+§"

4. The circumference of a circle is known to be about
3:14159 times its diameter, or, in other words, the ratio of
the circumference to the diameter is represented by 3:14159;
for this number writers generally put the Greck letter .

B



2 TRIGONOMETRY.

. circumference = D ; where D is the diameter, or
2nr, where r is the radius of the circle

Hence the length of the arc of a quadrant is ’—; ; of a semi-

; ; . 8mr
circle, or 180° is nrr ; and of 270°, or three quadrants, is 3—;—— .

Now if any arc a subtend an angle of 4, then sincez;—r

subtends 90°, and that by Euclid vr. 33, angles are propor-
tional to the arcs which subtend them,

0.0 g« L.
A.90..a.2,

0
o A= ]80.2 ........ .....(l).

: T

From this expression any one of the quantities may be
found when the others are given.

Ex. 1. Find the length of an arc of 45° of a circle whose
radius is 10 feet ;

180" «a
0 __ —_—
=1’
45°
S a= IS—'()DXIOXS‘14‘159=7'8539 feet.

5. Most modern writers on Trigonometry take also for
the unit of angular measure the number of degrees in an
angle, subtended by an arc equal to the radius*. If U°re-
present that angle, then by equation (1),

n
* If ACB be an angle at the centre of a circle, B
subtended by an arc equal to the radius of the
circle, then, since by the 33rd Proposition of the 6th
Book of Euclid, the angles at the centre of a circle
are to each other as the arcs on which they stand, A
Angle ACB : four right angles :: arc AB : cir-
cumference, but 4B is an arc equal to the radius,
.. Angle ACB : four right angles :: 7 : 277 2

1:2m,

~ ACB
™
for any circle; it may therefore be used to measure other angles.

four right angles . R R
= AT TIRht angles , which, being independent of r, is constant



TRIGONOMETRY. 3

And since U°=57%29578 is constant,

o . a . arc
A° varies as -, t.€. as — i ;
r radius

and taking U° as the unit, we have

a ... .
A= o which is called the circular measure of the angle.

From equation (2) we see that the measuring unit, U,

must be multiplied by the fraction gto find the angle;

-
thus if the circular measure of an angle be % , then
A= I% (5729578) = 28° 64789.
If the circular measure be g then

A°= ‘-53 (57™29578) = :—g (5729578) = 68"754936.

Now, suppose we take an angle of 22° 27’ 89", then this is
put into decimals at once by the centesimal division, without
putting down any work on paper, it being 22°2739; whereas,
by the sexagesimal, we must proceed in the following manner:

60) 39
60) 2765
224608
If we wish to find how many grades and minutes are
contained in this angle, here

E =22'4608
E

— = 2'4956
9 9

E+ §=24~'9564’, which at sight is 245 95" 64”.
* B2



4 TRIGONOMETRY.

Find the number of degrees and minutes in 46¢ 56’ 36”.

FF = 465636
0= 4°65636
F
E=F- 5= 41°90724
60
54°4344
60
26064
E 10 r4l 6”

(1) If Fand F”, E’ and E” represent the magnitude of a
Frenchand English minute and second respectively,shew that

F 3 3’ F" 33
ET 25 ET 25
F = l French min. ;
<. F'x100x 100 =a quadrant,
E’ =1 English min. ;
. B'x60x% 90 = a quadrant,
hence, F’x 10000 = E’ x 5400,
F' x50=FE'x27,
F 21 8%
E 75 25
Also, F” =1 French second ;
< F”x100x100x 100 = a quadrant,
E” =1 English second ;
~ E”x60%x60x90 =a quadrant,
hence, F”x 1000000 = E"” x 324000,
F'"x250= E” x81;
F7_ 81 _38%
E" " 250 25°°
(2) Compare the interior angles of a regular octagon and

dodecagon :

0
In a polygon of » sides, 4°=180"— 360

In octagon = 180"~ '2—6—89— =180°—45"= 135"
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0
In dodecagon =180°— % = 180° — 30° = 150°,

135:150: 9 : 10.
The ratio is therefore 9 to 10.

(8) The earth being supposed a sphere, of which the
diameter is 7980 miles, find the length of an arc of 1°.

AO_ISO" a, , 5_180° a _]80">< a_
TR N T T 0080w “8990°
2
0
but 80 = 5729578 ;
o 1= 5720578 X
3990°
3990 . . .
a—ﬁm—Ggﬁ miles.

(4) Find the diameter of a globe when an arc of 25° of
the meridian measures 4 feet.

180° 0° °
=108, L g 180, 2 1800 8
T T T T T er
180 8
r= - x%—57 29578x2—

= 183346 feet. Answer.
(5) Find the number of degrees in a circular arc 30 feet
in length, of which the radius is 25 feet.
, 180° a 180° 30 180° 6
A=—- X—=—— X=—= - — =X
L o a 25 T 5

=57%29578 xg = 6875493, .

(6) Find the number of degreesin an angle of which the
circular measure is 7854, the value of = being 3-1416.

180° a 180° 180°
O X—m=—— . = =4 0.
A= xS =i X T84 = =45

(7) The interior angles of a rectilineal figure are in arith-
metical progression, the least angle is 120°, and the common
difference 5°; required the number of sides.
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Sum of angles = nr — 2 by Euc. (1. 32), or
120°+ 125° +130%, &c., to n terms = 180°z — 360",
(240 + (n — 1) 5} g =180n - 360,

1207 + -5»"--2»«- =180n — 560,

240n + 5n® — 5n = 360n — 720,
50 —125n = — 720,

625 625 625 -576 49
‘— T e — R
n'—~25n + 4 2 144 2 2’
n—-ﬂ==k%,
5=
n=?jé—m=160r9

The last is the congruent value of 2, since no angle can be
so great as 180°; .. the figure has nine sides.

(8) One regular polygon has two sides more than an-
other, and each of its angles exceeds each angle of the other
polygon by 15°; find the number of sides in each.

nA =nm — 2w, equation (1),
(n-2)(4-15)=(n—-2x2)m,
nAd —24 - 15n + 30 = nw — 4, equation (2).
Subtracting equation (2) from (1),
24 + 157 — 30 = 2m,
24 =2mr —15n + 30,
flvr — 157+ 30
2
L am— 2m _180n - 360
A=—-"= ;
n n
_ 2m—151+30 180r— 360
’ 2 T
890n — 150 = 360n — 720,
150% - 30n = 720,
n’— 2n = 48,
n'—2n+1=49,

» and from equation (1)

2
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n—1 ==I:7’
n=1x7=8or -6,
and n—-2=06.

An octagon and a hexagon.

(9) The angles in one regular polygon are twice as
many as in another polygon; and an angle of the former is
to an angle of the latter as 3 : 2; find the number of sides.

Let n = number of sides in 1st, A =each angle,

2n = number of sides in 2nd, B = each angle,

A=() e Bo(B2N)e 20,
n 2n n

B a2-1 3
—_———— — 1 =—;
A n-2
.~ 2n~2=3n-0,
n=4,
2n = 8.

(10) Theangles of a quadrilateral are in increasing geo-
metrical progression, and the difference between the third
angle and the fourth part of the first is 90°; find the angles.

Let A, Ar, Ar*, Ar® be the angles;
ce A #7477+ 07) = 30600,

and A(r’—%>=90";
QAT+ ) =4 -1);

=8 +r+2=0;

L' =8r 4+ 4+ 2r =0,

9 3 1 7”7 r 1
4_qgu J.\ (22 e e
(=843 = (=g =33 %
o 3, 1 r 1.
’ 2" 2 2 2’
Srf=2r; =2,
1 154
But 4 (r’—z =90; . 4= 90°

s 154 =3860°; .. A=24"
And the angles are 24°, 48°, 96°, 192°.



& TRIGONOMETRY.

6. TricoNoMETRICAL RaTios or DEFINITIONS.

Let BAC be any angle, and from any point D _~ B
D in AB let fall the perpendicular DP on AC,
then if we represent the angle BAC by 4, <——;—

311; is the sine of 4 ; % is the cosine of 4;

bp is the tangent of 4

P is the cosecant of 4;

A
' DP
)

AD . AP .
4p e the secant of 4; P s the cotangent of 4.

For the sake of abbreviation the above quantities are

generally put sin A, cos 4, tan A, sec A, cosec A, cot 4.
1—cos A is defined to be the versed sine of A4, or vers A*.

By the 47th Prop of the 1st Book of Euclid,
AP*+ DP*=AD".. .............(1)

* It may be perhaps necessary to re-
mark that the following defimtions have
been given by most English writers till
within the last few years. In the annexed
figure, take any arc AB, draw BP and
AT each perpendicular to the diameter
AE, and produce CB to meet AT in T,
then BP is called the sine of the angle
ACB to the radius CB; CP is called
the cosine; AT the tangent; C T the se-
cant; AP the versed sine; Q7 the co-
tangent ; C'7" the cosecant.

f we take the arc 4% greater than
one quadrant and less than two, then b
is called the sine; C’p the cosine; A4
the tangent; CR the secant; Ap the
versed sine.

If the arc Abd be greater than two
quadrants but less than three, then de ¢
is called the sine; Ce the cosine; AD the tangent; CD the secant; A¢
the versed sine.

If the arc Abdf be greater than three quadrants but less than four, then
Sog is called the sine; Cg the cosine; Ac &e tangent ; Cc the secant; and
Ag the versed sine.

Let the angle 4CB = A, r = radius CB, then since C P2+ PB*= (' B*
by 47th Prop. 1st book of Euclid, we have cos® 4 +sin? 4 =17%......... @)

Also AC? + AT?*=CT?, or
r?+tan? 4 =sec’ 4 .oeererennns sossessasssssasenassrsns eene(2)

=]
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Divide both sides of this equation by AD? and we have
AP* DP*_ AD*
ap*” 4AD° T 4DV

. AP)’ <DP)2_1_
ve. \up) *\up) ="

but jID) is the cosine of A4, and bp is the sine of A, by the

AD
above definitions ;

. cos® 4 +sin® 4 =1.ceiinennnn.n. (2).
From this equation we have,
cos’4=1-sin’4;
v cos A =,/(1- sin® 4),
and sin®*4 =1 — cos’ 4,
sin A=,/(1—cos’ 4);

=sin 4, and A—II =cos 4,

AD

. . P
and since by the definitions D
we have DP = AD sin A, and AP = AD cos A.
DP ADsin A sin 4
Now tan 4 = =TT
AP  ADcos A cos 4
From (1) cos? 4 = 72 = sin® 4, or cos 4 = +/(7? — sin® A)
and sin? 4 = 7% — cos? 4, or sin 4 = /(72— sin? 4)
From (2) tan® 4 = sec® 4 — 2%
The triangles BCP, TCA, OCT', and oCB, are all similar,
. AT BP OrtanA _sin4
T 4cTCP r  cosd

rsin 4
or tan A airvey ST R 3)
cot 4 cosA
r  sinA
r cos A
or cot A = i T “4)
sec 4 r 79
r Toond or secA—cosA B PP PPN ()
cosec A r r?
— =@a” cosecA=sT]7l PR PRPRN ()]
VErsin A =7 = CO8 A ceerieieeirrnriniiiiirieirereeererreeanerineanenanns ™).
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AP ADcos A cos A

ot 4=DP~ 4D sind ~sin 4’
sec 4 = ‘iD=— 4D _ =1
AP ADcos A cosd’
AD AD 1
cosec 4 =

DP~ 4D sin A sin 4°

AD* AP+ DP* Dpy°
gy AL _Ar + - .
secA—AP,- AP = +<AP)_1+tan9A,
or by dividing equation (1) by 4P%, .

AP "'+ DP\* rAD\*
(ar) +(ip) =(Gip)
or 1 +tan® 4 =sec® 4;

~osec 4 =,/(1 + tan® 4).
Also dividing equation (1) by DI, we have

(%’},)2 + (g—ﬁ)’: (ff?,) that is

cot’ 4 + 1= cosec® 4 ;
.. cosec A =,/(1 + cot® ).

(1) The sine of an angle is equal to the cosine of its
complement.

Since ¢ ADP =90°— A4,
and sin ADP = ::f) =cos 4,

bppr .
cos ADP = 4p = sin A;
that is, sin (90° — A) = cos 4,
and cos (90° — 4) = sin 4.
(2) To shew that sin 4 = sin (180°— 4).
Let BOP, be greater than a ¢
right angle ; draw P, N, perpen- P P
dicular to AB; mak:e t]he angle ' d
BOP equal to the angle A0P,,
and OP = OP,, and let fall the A N
perpendicular PN, then the tri- a 0\'

angles P,ON, and PON are evi- . RS
dently equal. L2 s
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%I]}:J ; sin BOP = sin (180°— BOP) = .1(;11‘,' ;
but P,N,= PN, and OP, = OP;
*. sin BOP, = sin (180° -~ BOP,):
that is, the sine of an angle is equal to the sine of the sup-
plement of that angle :

sin BOP, =

ON, ON
cos BOP =155 == 0op°
ON
cos BOP = cos (180° - BOP)) = OP’

-, cos BOP,= — cos (180°~ BOP));

or the cosine of an angle is equal to minus the cosine of its
supplement.

(8) Sin (— 4)= —sin 4, and cos (- A) = cos 4.

If the line OP revolve round the point O -
from OD upwards till it describes an angle / ‘

NOP = 4, then if it revolve downwards N o
from OD till it describes the angle " ™™
NOP, then NOP, = — A.

P
. PN . . PN
sin 4 = or’ and sin NOP, =sin (- 4) = OIP, ;
PN PN
but op, =~ op
ON “sin (—A)=-sin4;
ON ON
cos 4= opr’ and cos NOP, = cos (— A) = 0P, = or’

. cos 4 =cos (- 4).
From these we readily see that
tan 4 = —tan (- 4),
cot A=—cot(—4),
sec A = sec (—~ A),
cosec 4 = — cosec (— A4).
After one revolution is completed, the sines, cosines, &c.,

take the same values as before; therefore the sine of any
angle is the same as the sine of 360" + that angle, or

sin 4 = sin (27 + 4);
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In the same way,
sin 4 =sin (47 + A),
;nd for the general form, where % is a whole number, we
ave
sin 4 = sin (2nm + A).
Similarly,
sin (m — 4) = sin (87 — A) = sin (57 — 4);
or, generally,
sin (m — A) = sin {(2n + 1) = — 4} ;
but sin 4 = sin (7 - 4);
< sin (2w + 4) = sin{@n + 1) 7 — 4}.
Also sin 4 = — sin {(2n + 1) w + 4}
= — sin (2n7 — 4),
cos A =cos(2nm+ A)=—cos {(2n+ 1) w - A},
tan A =tan (@nwr + A)=—tan {(2n + 1) 7 — 4},
sec A =sec (2nm + A)=—sec{(2n +1) = - A4}.

(4) In thefigure at page 10, it is clear that if we suppose
the line OP, originally coinciding with OB, to revolve
round O as a centre, in each of the quadrants the various
trigonometrical quantities will have precisely the same
value ; for the sake of distinction these quantities are
affected with different signs. Thus, suppose ON = ON, =z,
then ON, measured to the right of O, is called + 2, and
ON, measured to the left of O, is called — 2. Also, any
line PN above the line AB is considered positive, and
any line P,V below the same line is considered negative ;
thus if PN = + y, then P;N is —y. This is purely conven-
tional, for we might have taken lines to the left to be posi-
tive, and those to the right to be negative, and so on; but
when we once fix on the positive direction, the negative
direction must necessarily be opposite to it.

If we suppose the line OP to revolve upwards, the angle
PON is considered positive ; but, if downwards, the angle
P,ON is considered negative: thus, the angle PON is + 4,
and the angle P,ON is — 4.

(5) We may now proceed to trace the values of the
sine, cosine, &c., throughout the four quadrants. In the first

PN Cq. . . . ON
quadrant oP’ which is the sine of 4, is positive ; and oP

which is the cosine of 4, is also positive; it is clear that as
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the sine increases, the cosine decreases, and when OP coin-
cides with OC, then PN = OP, and ON=0; hence the
sin 90°=1 and cos 90° = 0. In the second quadrant the

5 . ) . 1 . .
sine is also positive, but the cosine or ' is negative,

since ON, is measured in the opposite direction to ON; as
OP revolves from OC towards OA the sine decreases, and
the cosine increases negatively ; so that when OP coincides
with OA the sine is 0 and the cosine is —1, that is, sin 180°
=0 and cos 180°= —1.

In the third quadrant both the sine and cosine are
negative, and when OP coincides with OD, then the sin
270° = - 1, and the cos 270°= 0. In the fourth quadrant
the sine is negative but the cosine positive, and when the
line OP has completed a whole revolution by coinciding
again with OB, then we have the

sine 860°= 0, and cosine 360° = 1.
sin 4

Since tan 4 = .

; in the first quadrant, both sin 4
os A

and cos 4 being positive, tan 4 is also positive, and when

in 90° 1 . . .
A =90° we have tan 90° = s 09 - =5 infinity ; that is, the

tangent of 90° is infinite.
+ sin 4

In the second quadrant tan 4 = , and 1is there-
- cos 4

sm 180°

cos 180°

In the third quadrant tan 4 = smj’ and is therefore

.. sin 270° -1 . .
positive, and tan 270° = cos 2; o = o =— mﬁmty.

0
fore negative, and tan 180° = === 0.

In the fourth quadrant tan 4 _-—s—mj, and couse-

- 0 — D 3(‘0 — 0 —
quently negative, and tan 360° = cos 360"~ 1 =0.
(6) To find sine, cosine, &c., of 30°, 60°, 45°. ¢
Let the angle be 60°.
In the equilateral triangle ACB, let fall the
perpendicular CD, which bisects both the angle
ACB and the base 4B. vos
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Now, 4P~ sin 4CD = sin 50", but 4D = 1 4C;

AC
1
. 340
. sin 80° = ic =3’
. 1 3
. cos 30" = /(1 —sin’30") = \/(1 - Z) = “»/2~ , but
. d
cos 30°= sin 60°; ... sin 60° = "/
0 M 0 (1] 1
cos 60° = sin 30°; ... cos 60 =33
sin 30° —1, sin 60° = “/3
2
cos 30° =-“é—3 s cos 60" = %,
1 NE
sin30° 2 1 sin 60° 2
ts 0 = = ° = =— =/
an 30" = o5 30° NEERNES tan 60 cos 60° " 1 v
2 2
N3 1
cos 30° 2 60° 2 1
cot 30° = — =./3 o COS .
sin 80° 1 W35 | cot 60 sin 60°~ /3~ /-
2 9
1 1 1 1
sec 30" = , o __ - =
© 30" = s 50° J? V3 sec 60 cos 60° 1 %
2 2
1 1 1 2
cosec 30"= ———=— =2; : 0 = %
80=Gngor= 1 T | coee 60°= —— 6o NERN
2 o

When the angle is 45°,
sin 45°= cos (90° — 45°) = cos 45°

Now, since cos®45° + sin®45° = 1, and cos 45° = sin 45°,
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we have 2 cos’45°=1,

1
2 0=_
cos’ 45 2’

1
or, cos 45" = —;

V2’
] .
V2

and since sin 45° = cos 45°,

and therefore, sin 45°=

,_sinds’_
tan 45 —0084‘50—1,
o_ COS45°
cot 45 sinas = b
1 1
e — =" = /o
sec 45 cos45° 1 V3
V2
cosec 45° = 1 _1_ 2
T sin45° 1 =2

The following results the student should commit to memory:
cos®* 4 +sin*4 =1,
cos 4 =,/(1—sin*4); sin 4 =,/(1—cos* 4),

sind 1 .
tan4 = cos A = cot 4 =./(sec’ 4 - 1),
tA_cosA__ 1 s 41
cotd = G “rana ~V(cosec’ 4 -1),

1
sec A = ca‘s—z = J(l + tan’A):

1
cosec 4 = e (1 + cot® 4),
vers 4 =1 - cos 4.

Ezamples.

Ex. 1. Iftand =§, compute the sine and versed sine.
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snd_s
cosd 3’
3sin 4 = 4,/(1 — sin® 4),
9sin?4=16-16sin’4,
25sin®* 4 =16,
5sin 4 =4,

smA_-‘f

cos A =,/(1—sin* 4) = \/(1 —~—>
3
5

versd=1—~cos 4 =1-—

9 8
25 5°
_2
5
Ex. 2. 6(sinA4)*=5 cos 4, find sine, cosine, tangent.
6 —6cos*d =5 cos 4,
6 cos® 4+ 5cosd=6,
cos® 4 + g cosd=1,
25 25 169

5
e 2eos A+ =2 = =2
cos A+6cos +144 +144- 124

-

Ex. 3. sinAcos A= "13 . Find sin, cos, and arc.

sin 4 ,/(1 —sin* 4) = “%,



Ex. 4.

16’
sin* 4 — sin? A--———,
16
. . 1 1
sm‘A-—sm’A+Z=-l—6—,
. 1 1
H —_— = el
sin® 4 3 *4,
sin’A:%, r%,
sinA:"-—;E,or%;
~. A =60° or 30°
1 3
cosA=§,or’—‘/2—-.
4
tan 4 + cot 4 =:/§, find tan A4, and cot 4.
4
tanA+tnA JJ
tan’A—f—tanA=—]
NE ’
4 4 1
tan® 4 — tan 4+ - ==
an J3 an =3
A 2 1
n —_— e ==k —
ta NERRINEE
1
tanA:,\/S,or:/As,
1
cot 4 =-7-, or /3.
3

Ex. 5.

TRIGONOMETRY.

sin4 (1 —sin® 4) =—

If 3sind+5,/3.cos d=09, find 4.
5./8./(1 —sin®* 4) = 8(8—sin 4),

25.8.(1 — sin® 4) =9 (9 — 6sin 4 + sin® 4),

17
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25=~25sin* A =27 —-18sin 4 4+ 3sin® 4,
28s8in’ A —-18sin A=~ 2,
9 1

. e 9 . -
sin® 4 1‘ll'smA

—1—4—"
: 9 . 81 81-56 25
? - A —_m— ——— = ———
sin® A ]4sm +784~ 784 53’
Q9 =5
SmA_ég 58
=5+0 1 1
A= o2 .
sm 28 2>
. 4 = 30°
Ex. 6. sinA+sinB=1%f,
3 Find 4 and B;
sin A sin B -2
4
sin’A+zsinAsinB+5infB=]+_2\/_3+‘3

% »
4sinAsinB=é;/§’

Si”‘"”"QSi“ASi“l'3+ssin’B=]—_—2_:1~/—3:r—3,
sin 4 — sin B:‘\/EQ—_I,

sinA+sinB=1—+é_~/_3.,

2sind=1; sinA:%; .. A=30,

2sin B=,/3; .. sinB=‘{2—3; .. B=60"
Ex 7. Shew that sec® 4 cosec® 4 = sec® 4 + cosec® 4.
sec® 4 cosec’ 4 = sec® 4 (1 + cot® 4) = sec®* 4 + sec’ 4 cot* 4,
1 cos’4 R 1
=secld + g w4 = g
=sec’d + cosec® 4.
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Ex. 8. If tan®4 + 4sin*4 =6, prove that 4 = 60".

sin” 4 s'n A )
oA Toemd T4 sin’4 =6,
sin®4 + 4 sin*4 — 4 sm‘A =06-6sin"4,
4sin*4 ~11sin’4 =-6,
. 11 . 121 121 96 25
g 2t s P
sind = sin’ A+ 6 =63 " 64~ 64

+4sin’4 =6, or,

11 5 . 11 5 3
sin® 4 —g =ty sm’A=?*§=2, or 4

sosind = "/729 =sin 60°; ... 4=60"

The /2 being greater than unity is inadmissible.
Ex. 9. If sinzcosa+asin’r=0h, find z.
sinz /(1 - sin’z) = b~ asin’z,
sin*x —sin*z = 6> — 2ab sin® x + a® sin‘ x,
(a*+1) sin*x — (2ab + 1) sin* z =— &,

sinx < 2ab +1 )sin2 b
- -, - X=—
at+1 a®+1

- (2ab+1) {‘)ab+1}
sinfe — (= —— ) sin*a +
' +1 2(a*+1)

_4a0'+ 4ab+1 W
4-(a+l) Tat+1

_dab+1—4b*

4@ +1)

R 2ab +1 J(4ab+1—4~b’)

e @I )T @ y

. 2ab +1=,/(1 + 4ab — 4b*

sin’z = O‘(/‘Es— 0 ),

sinz = {Qab L *J(l + M[) - 464’)}
2 (a + 1)

Ex.10. 25sin4(sind—cos4)=4. Prove that sind=

. . 4
2 q —
sinA —sindcos 4 = —,

19

\nlvP
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. g __4'__ .
sin®A4 25—smA cos A
=sin4 ,/(1-sin’4),

sind - 5 sind + A0 16 =sin"4 —sin*4,

25 625
. 33 16
28in'A - 226in®4 = — 4
sin' 4 25smA 625’
. 33 . 8
4 -_——— 2 = ——
sin* 4 5OsmA 625

sin*4 - 33 sind + ( 33) 1089 8 961

50 100/ ~ 10000~ 625~ 10000
sin’d - 13:0 == 1§01_o ’
sin®4 = 13030 = 1‘3010 l(i) 0’ taking the upper sign;
wsind = T86 = % .

Ex.11. Gtan A4 +12cot A =5,/3.secA. Find tan 4.
=53./(1+ tan’4),

144
86tan*Ad +144+ - . =T75+75tan’ 4,
tan® 4

6 tan A 12
tan +tanA

39 tan*4 — 69 tan’ 4 = 144,
13 tan* 4 — 23 tan* 4 = 48,
tan‘A—Et BA__1_3’
-
tan®4 —J=*2g’

23 55 18
262626~

sotand=,/8; . A4=60 (p. 14).

tan® A= =3;
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Ex. 12. If m=tan 4 +sin 4, and n =tan 4 —sin 4, find
an equation involving only m and =,

m=tan 4 +sin 4,
n=tan 4 —sin 4,

m+n m—n
tan 4 = P sind = 5
sinA=-———t£4—2——;
J(1 +tan® 4)
m+n
m-n_ T )
2 m+n'}’
\/{I’L('Q”)
(m + n)*
(m—m)' 4 _ (men)
4, B (m+n)’~4~+(m+n)”

4 (m—n)® + (m—n)*(m+n)=4(m+n)
(m* —n*)’ = 4 (m +n)’ — 4 (m —n)* =16 mn,
m®—n*=,/(16mn) = 4 ,/(mn).

Ex. 18. Ifa(sin6)*+b(cos8)f=m ......... n,
b(sing)* +a(cosp)’=n ......... (2),
anda tanf=btang ............... (3),

then l+l= 1+—l-

a b m n

a (1~ cos*0)+0cos®0 =m,
a—acos® 0+ b cos® 0 =m,
(a-0)cos*d =a—m,

o a-m .y -
cos?0=""""0 o sect0=""" or 1+tan'0_—.a—b;
a-b a-m a-m
-y -y
cotanf =270 2"
a—m a—m

In the same manner,
~a

tan’ ¢ = ';
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tan’0 m—b b—n
tan’¢p a-m' n-a’

but by equation 3,
tanf b tan®d 0*

tang a’ tan¢ a*’
L6 m—bb—n_ bm—0b—mn+bn

2 = . = o — % 4
a a—m n—da an—mn—a”+ am

.

ab®n—b'mn — a*b? + ab®m = a*bm— a*h® — a®mn + a®bn;
o (@2 =0%)mn = a*bm — ab’m + a*bn — ab’n
=ab (am—bm +an —bn)
=ab{(a=b)m+(a—0b)n};
- (a+b)ymn =ab (m+n),
a+b _m4n

Tab T mm
1 1 1 1
S m =4 -
a b m n

(1) Prove that
tanA cosA4 tanAd cotAd

sind=——"=—" =— —
sec cot A cosec A ’
sin A cot A sin A cosec A
cosA=—>" = " ="_ ,
" tanAd cosec A sec A
tan A cos A cos A secA sin A4 cosec A
a =—— T = - —— = — —
“ T sinAd cot’ A cot A cot A ’
cot A = cos A scc A sin 4 cosec 4 sin 4
T tand tan A “cos A tan’* 4°
tan A sin 4 cosec A tan A cot A
secAd=— — = =T 2,
sin A cos A cos A
cosec A _secA cosd secd tand cotA
“tand  sind ~ sind

(2) cos*4 cot’ 4 = cot® 4 - cos® 4.
cos’ A~ cos* B
®) “cos* A cos’ B

(4) If m=cosecd—sinAd; and n=secAd—cos 4 ;

=tan® B—tan? 4.

4 2 e 4
then msns + msn3 =1,



TRIGONOMETRY.

. sind _ ro
(5) Given cosA——]’ find A. A=45"
(msmAcmA=ﬁ?m@A. A=30".

(7) tanAd+cot A=2, find 4. A=45"

23

(8) Write down the sum of all the exterior and also of
all the interior angles of a polygon of n sides; and thence
deduce the value of each of the vertical angles of the trian-~
gles made by producing both ways all the sides of a regular
polygon, and verify the result in the cases where z =3 and

n==4,
tan A 1
(9) 7:,(3?11 + (1 —;(;62) =sec 4, findsec A4:
1+,/5
sec A = '—2“

(0) e 1)+, /(1= )+ 1 = sect 4, fna

tind;

tan 4 = (L‘;“ZQY

v (1) i A+ gcos A=1, find A,
A = 90"

(12) sin* 4 —2sin®4—1=2sin 4-cos® 4, find 4.

A =270°

(18) tan'A —tan*A+1=4tan 4 +sec’ 4, find tan 4.

(14) IfsinAd+cos B=a,
sin B4+cos A=5,

. b a ( 4 >
then smB—-gﬁé\/ m—-l .

3 4
15) Gi =
(15) Given tanz ozt Jranz

tanz —

—————+ 3, find tana:
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Given tanx tany =tan*z —tan’y 1
tan®x + tan*y
tan x —tan y

2tan’z =

Find tanz and tan y, without quadratics,

(17) tanzx—tany=2 }tanz:S,
1 1
ﬁ(tanx+mn'y)-tanxtan_y tan y=1.
1 e, 1 A .
(18) Ztan x—tan——x-—l’ find tanx:
tanx =2,
(19) tan’z +48 cot®z=4cotx + 18,
tanz =4 and — 2.
(20) é—s%c—f—& cotxr-~39; find tanx :
tanz =5
ang=gz.
(21) sin’x+siny=g findx and y:
sinz siny =-;; =90° and y = 30"
1, ., 1
(22) £ tan x=37-tan.r; find tanx :
]
tanx =2.
(28) Iftan* 4 —cotd = % (cot A-1), A=45".
(24) (tanA4-1)*-8cot A(1—2cot 4)=8: find tan 4.
(25) Prove that
———1-——— -—%{,j(sec’A+3)-—tanA}.
tan 4 + ——,

tana:=‘/5; ; tan y""—/—5

tanA+ &ec., ad inf.
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CHAPTER II
7. To find the sine and cosine of the sum and dif-
ference of two angles. s
Let the angle FAC = 4, and the angle
FAP = B, then PAC =4 + B, draw PF P
perpendicular to AF, and from P and F
let fall the perpendiculars PD and FE on F

AC, and draw F'G parallel to 4C. Now,

because GF is parallel to AC, the alter- ¢
nate angles, AFG and FAC are equal, A D E

but FAC =4, therefore AFG =A; and since AFP is a
right angle, the angle PFG is the complement of AFG ; but
FGPis a right angle, therefore FPG is the complement of
PFQG, that is, the angles FPG and AFG are t{:e comple-
ments of the same angle (PFG), they are therefore equal ;
but AFG has been proved equal to 4, hence FPG = 4.

DP_DG+GP_EF+PG

sm(A+B)=2«13_—-A—P ==—ip —
_EF PG
T AP AP

_EF AF PG PF
=A4F 4rT PF 4P’

but by the definitions, gg = sin 4,

and % =cos B; also f,g =cos FPG = cos A4,

and gﬁ = sin B, hence

. sin (4 + B)=sin 4 cos B +cos 4 sin B.
AD AE-DE AE GF
cos(A+B)=AP=»~AP~=ﬁ_ZP,
(because GF = DE)
_4E AF_GF PF
T AF AP PF' AP
=cos 4 cos B —sin 4 sin B.
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To find the sine and cosine of 4 — B.
Let the angle DAF = 4, and the angle F
PAF =B, then £ PAD = A - B: from any
point P draw the perpendiculars PF and P
PD on AF and 4D, also draw PG parallel l_'
E D

to AD, then - PFG =the complement of
AFE, and therefore = A4, because AFG is
the complement of A; and because GD is a rectangle,
ED = PG,and PD =GUE.
. PD FE-FG FE FG
sin(d=B)=p=""4p ~4P ap
_FE AF FG FP
T AF AP~ FP' AP
=sin A cos B — cos 4 sin B,
AD AE+ED AE PG
AP~ AP —4P*t 4P
_AE AF PG PF
= AF AP™ PF 4P

= cos A cos B + sin 4 sin B.

A

cos (A - B)=

8. Now, since sin (4 + B) =sin 4 cos B + cos 4 sin B,
if we make B = 4, then

sin(4A+ A)=sin24 =sin A cos A+ cos Asin 4=2sin Acos 4;
also,
since cos (4 + B) = cos 4 cos B —sin 4sin B; make B=4;
then cos (4 + A) =cos 2 A= cos A cos A —sin A sin 4
=cos’4 —sin’4 ;
but since cos® 4 =1 —sin® 4, we have also
cos2A4A=1-sin"A—-sin*4=1-2sin"4;
alsosin® 4 =1-cos*4;
. cos 2A=cos* 4 —(1~-cos’A)=2cos* 4 —1.
Since 4 may be any angle, we have the sine of any angle
equal to twice the sine of half that angle multipled by the
cosine of half that angle; and the cosine of any angle is

equal to the square of the cosine of half that angle minus the
sine square of half that angle. For the sines we have
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sinA=25in%cos§,
.1 .1 1
sin EA =2sin 3 A cos ;A,

.1 .1 1
sin §A=25m3 A cosEA,

. . 1
smlA=25m~1 A cos — 4.
n 2n 2n

In the same manner for the cosines,
cos 24 =1-2sin® 4,

cos A=1~2 sin’%A,
1 |
cos§A=l-—23m’2A,

cos-};A:l-—Qsin’éA,

coslA =1-2sin® 1 A.
n 2n

Also cos 2 4=2cos*4d -1,

cosA=2cos’;zA—- 1,

1 1
cos§A=2cos’ZA—1,
coséA:i.’cos’%A-l,

cos-1-A=2cos’—l~A-—1.
n 2n

9. To find sin 34.
sin 34 =sin (24 + 4).
By putting 2 4 for 4, and 4 for B in the sin (4 + B),
we have

sin(24 + A)=sin24 cos 4 + cos 24 sin 4;
c2
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but sin2A4=2sin 4 cos A, and cos 24 =1-2sin* 4
sin (24 + 4) =2 sin 4 cos 4 cos 4 + (1 - 2 sin® 4) sin 4,
=2 sin A cos®* A +sin 4 — 2sin® 4,
=2sin 4 (1 -sin® 4) +sin 4 -2 sin® 4,
=2sind-2sin’ 4 +sin 4 — 2 sin® 4,
=8sinAd— 4sin® 4;
that is, sin 84 =8 sin 4 — 4 sin® A.
To find cos 8 4.
cos 34 =cos (24 + A)=cos 24 cos 4 —sin 24 sin 4,
=(2cos*4 —1)cos A —2sin 4 cos A sin 4,
=2cos® 4 —cos A —2cos Asin®4,
=2c0s’ 4 —cos 4 —2 cos A (1 —cos® 4),
=2cos’ A —cosAd-2cos A +2cos* 4,
=4 cos® 4 — 3 cos A.
In the same way we may find the sin 44, &c., but it
will be better to express them in general terms, as in the
next Article.

10. Now, since
sin (4 + B) =sin A cos B + cos 4 sin B,
sin (4 — B) =sin A cos B — cos 4 sin B,
by addition we have

sin(4 +B)+sin(4-B)=2sin4 cos B ......... ().
By subtraction,
sin(4A+B)-sin(4d-B)=2cosAsinB......... @).

By multiplication,
sin (4 + B) sin (4 — B) =sin® 4 cos* B — cos® 4 sin® B
=sin’ 4 (1 - sin*B) — sin® B (1 —sin* 4)
=sin® 4 - sin® B = (sin 4 + sin B) (sin 4 —sin B)...(3).
Also, cos(4 + B)=cos 4 cos B —sin 4 sin B,
cos (A — B)=cos 4 cos B + sin 4 sin B.
By addition,
cos(A+B)+cos(A—-B)=2cosAcosB............ (4).
By subtraction,
cos (A—~B)—cos (4 +B)=2sinA4dsin B......... (5).
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By multiplication,
cos (4 + B) cos (4 — B) = cos’ 4 cos’ B —sin’ 4 sin*B
= cos* 4 (1 —sin® B) ~sin® B (1 — cos* 4)
=cos’ 4 —sin’ B
=(cos 4 +sin B)(cos 4 —sin B) .............. (6).
Now by equations (1) and (4):
sin (4 + B) +sin (4 - B)=2sin 4 cos B,
cos (4 + B)+cos(A—-B)=2cosdcos B;
for B put a, and for 4 put na; then, )
4d+Bz=nat+a=(n+1)a, and A~B=nag—a=(n-1)a,
sin (n + 1)a + sin (» — 1)a = 2 sin na cos a,
cos (n +1)a + cos (n—1)a = 2 cos na cos a.
By giving to n different values, the sine or cosine ot
any multiple arc may be found.

11. Now, since half the sum of any two quantities
added to half their difference gives the greater, and half
the difference subtracted from half the sum gives the less,

we have
A=4(4+ B)+34(4-B),
B=3(4+B)-4(4- B).
Putting 1(4 + B) for 4, and '§ (4 ~ B) for B, in sin
(4 + B) and cos (4 + B);
sin 4 =sin {$(4+ B) + $(4 - B)}
=sin §(4+ B)cos 3(4—~DB) +cos §(4+ B)sin3(4 - B)...(1).
In the same manner,
gin B=sin(A4+ B) cos § (A~ B)-cos }(4+B) sing(4-B)...(2).
By adding (1) and (2),

sin 4+ sin B=2 sin§(4d+ B) cos3(Ad—~B) .cceunnnenn. (3).
By subtracting (2) from (1),
sin A—sin B=2sin §(4-B)cos{ (4 +B) .ccecvvueennnn. (4).

cos A =cos{; (4 + B)+3(4 - B)}
= cos 3 (A4 + B) cos (A~ B) - sin 5 (A4 + B) sin (4 - B)...(5)-
cos B=cos{$(4 +B)~4(4 - B)}
=cos 5(4+B)cos}(A4—-B) +sin (4 + B) sin 4 (4- B)...(6).
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Add (5) and (6):

cos A+cos B=2cos5(4 +B)cosi (4 ~B) ...ccovnunene .
Subtract (5) from (6):

cos B-cos A=2sing(4 +B)sing(4d~B) wcovvrurinnnn. (8).
By dividing (8) by n:

sin 4 +sinB_ 2sin ,,(A +B)cos3(A~B) sin(4+B)
cos A+cos B~ Zcost S(A+B)cos J(4d-B) cosi(4+B)
=tan§(4 + B)......... (9)-

Divide (4) by (7):
sinA-sinB_ 2sin}(4-B)cosg(4+B)
cosA+cosB 2cos 5(4+B)cos §(A-B)
Divide (8) by (4):
sind+sinB_2sin; (4 + B)cos3(4 - B)
sind —sin B~ z—sm@(j(—ﬁ)hcos (4+B)
tan (4 + B)
G iUA—B) (11).

=tan §(4+B).(10).

Divide (7) by (8):
cos B+cosd 2 cos_q (A+B)cos3(4-B)

cos B—cos A 2sind (4 + B)sin g(A -B)
=cot (4 + B)cot 5(4 - B) ......... (12).
Divide (4) by (8):
sind —sinB _2sing (4 - Blc_os_i(A_-f- B)

cosB-cosd 2sn $(4+B)sing(4-B)
=cot (A +B) vt i (13).

12. To express the tan(d4 = B) in terms of tan 4 and
tan B.

tan (4 + B) =

sin(4 +B) _sin4 cos B+cosA sinB
cos(A+B) cosdcosB-sinAdsinB’
Divide the numerator and denominator of this fraction

by cos 4 cos B; then

sin 4 cos B+ coiésin B

cos A cos B” cosA cosB_ tand +tan B

_snAsinB “1~tand tan B’
cos4 cos B

tan(4 + B) =
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sin(4 —B) sinA cos B-cosAd sinB
tan (4 — B) = .0 (A—B)  cosd cos B+sind sin B

sinAd cosB cos A4 sinB

cosdcosB cosdcosB tanAd—tan B

= sm A4 sin B T1+tanAd tan B’
cosA cos B
};3». To express the cot (4 = B) in terms of cot 4 and

cot .

1+

_cos(4+B) cosAd cosB—sin 4 sin B
cot (A +B) = A B) = sin A cos B+ cos A sin B°
Dividing numerator and denominator by sin 4 sin B,
cos 4 cos B
. sindsin B cot 4 cot B—1
cot (4 +B)=sinAfl§§+ cosd sin B~ cot B+cotd ’
sin A sin B sin 4 sin B

making B=4, we have

cot’ 4 —1
Cot24 =Gt A
In precisely the same manner we obtain
cotd cot B+1
ot =B = B cotd -

If in tan (4 + B) we make B= A,

tand +tan 4

then tan (4 + 4) = ——— 0

. 2tan 4
that 15, tan 24 = i’:‘m .
If for 24 we put 4, and therefore % for A, we have
2 tan %
tan 4 =
— 2 ——
1 - tan 3
In the same manner
2 tan 4
A
tan g = 7’
1 - tan® =

4
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A
tanA 2 tan -6
== ,
8 l—tan'%
4 2tan§;
tan — =
1—tan® —

14. Inverse trigonometrical functions.

The quantities sin™'4, cos™ 4, &c., are called inverse
functions, and have the following signification:—

sin™ 4 is put for an angle whose sine is 4,
cos™ 4 is put for an angle whose cosine is 4, &c., &c.
Let sin a = a, and sin 8=,
then a =sin™a, and B =sin"J,
cos a =,/(1-a®), and cos 3 =,/(1-0%),
sin (a + B) = sina cos 3 + cos a sin 3
=a J(1-6)+b,/(1-0a%);
e+ B=sin" a /(1 -0%) +b,/(1-a%)},
but a=sin""a, and B =sin""b;
oosina +sin7' b =sin {a /(1 - &) + b, /(1 - a)}.
Also in the same manner,
sin” a —sin™ b = sin™ {a . /(1 - &*) — b /(1 - @°)}.
By proceeding in the same manner for the cosine,
cos™' a + cos™' b = cos™ {ab -, /(1 — a®) /(1 - B°)},
cos™'a —cos™ b =cos™ {ab +,/(1 — a®) /(1 — B°)}-
Proceeding in the same way for the tangents,
if tana=a, tan B=0,
then a =tan—'a, and B =tan™'d,
tana+tan B3 a+b
tan(a+f) = 1-tanatanf “1-ab’
a+b
. a+f3=tan ‘(l-ab)’
but a=tan"a, and B =tan™ b,
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. o ) e _a+b
.~ tan™'a + tan™ b = tan (IM—-ab)’
tana—tanB8 a-b

and since tan (« — (@) = TitmatmpB - 15ab’

-b
.. tan~'q —tan™' b = tan™! a-0 ) .
1+ab
In the same way,

b
cot™ a = cot™ b = cot™? (ﬁl]) .
bxa

15. The following formule, which are sometimes called
the formule of verification, are very useful :—

since cos’4 +sin*A4 =1,
and 2 sin 4 cos 4 =sin 24.
By adding and subtracting we have
cos’ A+ 2sin Acos A +sin*A4 =1 +sin 24,
and cos’4 — 2sin 4 cos 4 +sin* 4 =1 — sin 24.
By extracting the square root of each of these,
cos 4 +sin 4 =,/(1 + sin 24),
cos 4 —sin 4 =,/(1 - sin 24).
When 4 is less than 45° sin 4 is less than cos 4. By
adding,
2cos 4 =,/(1 +sin24) + /(1 - sin 24),
cos A =1 /(1 +sin 24) + 2 /(1 ~ sin 24).

Subtracting,
2sin 4 =,/(1 + sin 24) ~ /(1 - sin 24),

sind = é (1 +sin 24) - —;—,J(l - sin 24).

When A4 is greater than 45°, then sin 4 is greater than
cos A, and the above will become

cos A = % {J(1 +sin 24) — /(1 - sin 24)},

sin 4 = 1 {/(1 +sin 24) + /(1 -sin 24)}.

To find the sin 18°
cs
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Since the cosine of any angle is equal to the sine of its

complement,
cos 54° = sin 36",
but cos 54° = cos (36° + 18°) = cos 36° cos 18° — sin 36°sin 18°;
.. cos 36° cos 18° — sin 36° sin 18° = sin 36°,
but cos 36° =1 — 2 sin® 18° and sin 86° = 2 sin 18° cos 18°;
*. c0s18°(1— 2 sin"18") - 2 sin” 18° cos 18° = 2 sin 18° cos 18°.
Dividing by cos 18°,
1-2sin’ 18°—25sin® 18° =2 sin 18°;
.. 48in®18°+2sin® 18°=1,

sin® 18°+-;-sin 18°= i,

2
sin’18°+lsin 18°+(1> =i+ 1 =-5_

2 4 16 16°
1
sxn18°+z=-4—-5,
o _N5-1
sin 18° = 3

The same result may be obtained by using the formula
for the sin 84 ; or by the 10th proposition of the 4th book
of Euclid.

cos 18" =, /(1 —sin® 18)

Y BV

=\/5+~/5 J (5 +,/5)
8 2. /2

sin 36° = 2 sin 18° cos 18°

_2 (J5-1) JE+5) (W5 =1) J(5+./5)

2.2 4,/2
J{(5 2,/5+1)(5 +./5 )} (20 —4,/5)
4,/2 4,/2

1 20 — 4,/5
=2J2‘\/ 4 = =2J2‘“/(5'“/5)'

Now the sin 86° = cos 54°,
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o -
. cos 54 JZ (5 =./5),
sin 54° = /(1 - cos’ 54°) = \/ 1 —5 —8“/5>

~ §:~5+J5_\/3+¢5_ 6+2,/5
- 8 A 8 16

=,J(5+2,/5+1)_,J5+1
4 T4

Or thus, sin 54° = cos 36° = cos 2 (18°) = cos® 18° — sin® 18"

8 16 16
4+4,/5 1+/5
=716 4

Now since sin 18°= cos 72°, and cos 18° = sin72?, we have
the following results:
V(5 +5)

2./2 ;
sin36°='~./(f._:7;/_‘i); cos st ¥1,
sin 54° = ’*/5+1, cos 54° = \/(5~/;/5)’

. V(5 +4/5) 5=
sin 72° = ,/2 ; €os72° = "

sinlB"—-—"l%—-; cos 18° =

By the formula, page 34, we may find the sin 15°

sin 15°= 1{,‘/(1 + sin 80°) — /(1 - sin 30")}

1 1 1
-3{V/(+2)-{(V(-3)
RTACRER

PAWCIINZAEE N
This might have been found by putting

sin 15° = sin (45° - 30°).
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Ezamples.
(1) Shew that
cos (60° + A) + cos (60° — 4) = cos A.
cos (60° + A) = cos 60° cos 4 —sin 60° sin 4,
cos (60° — 4)=cos 60° cos 4 + sin 60° sin 4.
By addition,

cos (60° + A) + cos (60°— A) =2 cos 60°cos 4 =2 x§1 cos 4

=cos 4 ( because cos 60°= é{) .

(2) sin (80° + A) +sin (80° - 4) =cos 4,
sin (30°+ 4) =sin 30° cos 4 + cos 30° sin 4,
sin (80° — A) = sin 80° cos 4 — cos 30° sin 4.
By addition,
sin (80° + A) + sin (80°— 4) =2 sin 30° cos 4 = cos 4.

., 2tanid
(8) sind = an 14’
2sind A4 cosi 4
A__sin_xz 2sinjAcosid cos’ 4 A
1 1 B 1 ’

cos"$ 4
(by dividing numerator and denominator by cos®14)
2tanid  2tan} 4
T sec®id T 1+tan’id’
(4) 2cos(45°+§4) cos (45°—$ A) =cos A.
cos (45°+§A)=cos45°cos g A - sin45°sin$ 4
- %Q(cos 14— sinid);

cos (45° — § A) = cos 45° cos éA + 8in 45° sin 3 4

~/2 (cos 3 A +sin 3 A).

By multiplication,
2cos(45°+ 3 A) cos (45°— ,}A)

--2><'~/2 Jz(cos 344 —5in’ 1 4)
=cos' 44 —sin® 3 4 = cos 4.
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(5) Given
sin (z +a) +cos (2 + @) = sin (z— a) + cos (x-a), find =.
sin(a;+a)—sin(.:—a)=cos(.t—a)—cos(:+a),
sin (z+a) =sinz cos a +sina cosz,
sin (x—a) =sinz cosa-sina co8z;
.. sin (z + @) — sin (- a) =2 sina cos z,
cos(z—a) =cos 2 cosa +sin  sina,
cos (z+a) =cosz cosa~—sinz sina;
*. cos(z—a)—cos(z+a)=2sinz sina;
hence, 2sina cosz=2sina sinz;
* cosx=sinz;
& =45%

(6) If sinz+cos2x= ,\/2, prove that r=18°

Since cos 2 x =1—2sin’z, we have

N

sinr+1 —2sin’x=%,

sin’z—-l-sin.z=2——~“['—5;
2 4

%616 *16
_9-4/5_(J5-2)"

L. 1.1 _2-./5 1 8-4,/5 1
sm°x 2Sln.1-'+16 —Z—

16 16 °
. 1 ,/5-2
Slnl‘—z— ) N
. J5-2 1 J5-1 .
1. = —-= = 0 .
sin& 4 +4 " sin 18°;
oo =18%

(7) Find the tangent of 15"
tan 45°— tan 30°

tan 15°=tan (45°-30°)=— "~ " -
( ) 1 +tan 45° tan 30°

1
1m0
- 3_N3-1_(/8-1) /
1 J8+1 2 =2-V3
1+73
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(8) If x=sin™ 2, and y= sm" ,» then, z+y=90"

3 3\* 4
Smcesma:._.g,- cos.r_\/{l (_>} 5’
4
and sin y = 55 cosy= /\/1_ 5) =5

sxn(x+y)~51nxcosy+cos.z-smy
_3,3,44_9 16 25
5°5 5 5 25 25 25
but sin 90°=1; .. x+y =90
or we may put it in the following form,
sin"-'53‘+s.in"é=sin‘l <3x§ +é><:1-‘)=sin“1.
5 5 5 5 5 5

(9) Shew that 4 sin 9° NICENOEINIGCEINLE
By Art. 21, sin 4 = 5 {,J(l +sin2 A)—,/(1—-sin2 4)},

we use the under sign as the angle is less than 45°
Now, in the above formula let 4 = 9°, then, 2 4 =18°,

Sin 00 = 2 {/(1 + sin 18%) — /(1 ~ sin 18°)}

H045)- L)

=?; W3 +5) =6~ /5)

. 4sin 9°=,/(3 +./5) = (5 -./5).
(10) Shew that 2 cos 11°15" = /{2 +./(2 +./2)}.
Since 2 cos*44 —1=cos 4,

cos 34 = 1+ cosﬁ
let 4 =45° then 1 4 =22°30,
1+
05 22080 = 1 + cos 45° _ NE]
2

2+1 2+,/2 J(2+.2)
W2+ =\/ +/ =~/__;r__,

2,2 4
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. \/ J(2+J2)
cosll°15'=\/1+cosgg 30’
= i) ~/{2+J<2+J2)}
4
" 2o 1115 - 2 2+ 9.
Or it might have been put in this form:
45 1
2 cos ——2-—1—cos4-5 —_:/—é’
450 2
2(2(:05 2 1)—72;—J2,

50
4-cos’%v=2 +J2,
0
2 cos %‘ =2+ 2),
2(2 cost 42 1)=,/(2+.J2);
4 - >
. 450 ;
S 2cos— = {2+ (2 + J2)}-

This is the same as 2 cos 3‘2—‘? =J{2 +./(2+./2)}, and by

0
continuing the operation to 4; , we have
2 cos —, 45" —J{Q +4/(2 +ton + 1 terms)}.

(11) If 4, B, and C be in arithmetical progression,
sin 4 —sin B = 2 sin (4 — B) cos B.
Since B is an arithmetical mean between 4 and C, we
have
3(4+C)=B...... (1), $(4-C=B-C...... (OR
A-B=B-C......... (8)-
By page 29,
sin 4 - sin O'=2sin §(4~ C) cos §(4+C)
=2sin (B - C) cos B; by (2) and (1)
= 2 sin (4 — B) cos B; by (3).



TRIGONOMETRY.

(12) Show that

1 1 1 1
tan~! = 4 tan™! = + tan~' = -2 =450
3 + 3 tan 7 + tan 8 45
1 1 1
tan™ = + tan +tan™ — -1
3 7 + tan™ 3
(tan“ = 4 tan™ ) ( -1 + tan™! —1—>
7 8/’
1 + 1
1 1 375 4
tan~! - an~' = — -1 - -1 *
n 3+t 3 tan {1 n 1} tan 7
7335
1 1
—_— +__.
tan~' 1 4 tan? L = tan™ [_'L_S_ = tan~! > ;
8 [1 11 11
7°8
1 1 4 8
-1 0 -1 2 -1 1 S -1 % -1 9
tan + tan + tan 7+tan 3 tan 7+tan 11’
4 3
4 3 7T
but tan~! = + tan™' — = tan™ =tan™ (1) =4
P %3
711
1
tan™! % + tan™ % + tan™ 7 + tan™! % = 45°
(18) Given vers‘l =~ vers™ (1~ b) =vers™ l—)f ; find 5

b .

co's“(l—g) —cos™ {1 = (1 - d)}=cos™! (1_ )
- p- 3% {1——}6+N/(1—b’)\/{1— 1--)}:1_%’5;
J(l—b’) ik x/" ’“}

"(-E>=l l+b 1+b’

1-f_ . /2.
a 1+86°
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Lty ]2
“a  TA1+8

. 1 1 1
(14) Ifsmx=:/—3and cosy::/a +éT/3 » then z -y =30".

cos 1 _A6+1
y=Jot 2J3 2,/3

. ,J6+1 (5-2,/6
smy=J1— 273 } JQJS)

e O

sin (z — y) = sin 2 cos ¥ — cos x sin y
1 J6+1 2 J(5-2,/6)

U323 T /3 2.8
=J€6+1_J2.J(56 2,/6)

=N@_+_l_—,‘/(10—4~,\/6)_J6+1—J(4—4J6+6)
6 =
_~/6+1"\/(~/6"2)2 ~/6+1‘(~/( 2) 3_1
= ps =

Hence z —y = 30”.

(15) If 4 sin x sin 8z =1, find 2.
4 sin z(3sin - 4sinz) = 1,
12 sinz - 16 sin*z =1,

. 3 . 1
sin‘z — 2 sinfy = —

16°
Sintrs 29 _1_5
smz——zsmz+64 62 16_64"

sin’z—%==l= 5/5

3*\5 6*2J5 (W5=1)
8 16 16 °
NEES
4

taking the under sign, r =18°

sinfx =

sin x = taking the upper sign, x= 54, and
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(16) Ifcosx = \/§ and cos y = J‘mé‘/"; show that
x+y=60°

sinx=\/(l-§>=\/§=:}3,
N I
JW/6 =1y _ W61

T egs T a8y
cos(z+y)=cosxcosy—sinxsiny

_\/2 Ji+Je 1 J6-1

3 e/8 T J3 2/
6+2 ,6-1 6+2-,/6+
o4z _WOST_NBR2R O 8 1 cos 00
2t .
(17) Iftan 2z =1_—%‘§r%; , show that the radius of the
.1
arczis 5.
Since tan 2x=—m—'§—
1 —tan'x
2r't
tan 22 = — g[u:_ to radius 7 ;
7 — tan®r
. 2rftanw 2tan x
T —tan'z 1-4tan’z
7’ _ 1
r®~tan’r 1-4tan’z
7* — 4r° tan'z = r* — tan’x
4rt=1
1,1
Ty Ty
(18) If sin (a + 6) sin@:cosfg,showthato=goo-g.
Since cos® = 1+cosa
2= 2
1+cosa

(sin @ cos 6 + cos a sin ) sin 6 = ———,

1+cosa
sin a sin 0 cos 0 + cos a sin® 0 = —5 >
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1 1 - cos 20 1+ cosa
§smasm29+- g Cosa=——rp—,
sin @ sin 20 + (1 — cos 20) cosa =1 + o8 a,
sin a 8in 20 —cos a cos 20 =1 ;
or,cosacos 20 —sinasin20=—1;
i.e,co8 (a+20)=-1;
o a+20=180°;
., 180°-a @, a
PSS UETI Y3

0
(19) Cos 20 + cos (n—2) 6 = cos 6, thenﬂ:;lﬁ_ili.
cos{(n—1)+ 1} 0+ cos {(n—1)—1} 0 =cos ¥,
cos (n~1) 0 cosd—sin(n —1)0sin 6+ cos(n—1) 6 cosb
+sin (z —1) 0 sin 0 = cos 0 ;
“2cos(n—-1)0=1,

1
cos (n—1)6=£—),
(n-1)0=060°
60°

n—1"

(20) Show that

. 1
sin™! — + cot™! 3 = 45".
Nk

Let 2 =cot™"3; ... cots=3,
. 1 . 1
= - — — - = s et 2g = = —
iy = or-— 9; sin’s 16 and sin g Jio’
1
h ove becomes sin™! +

the ab es si ~/5 sin™! Jl
sin™! - +sin™ —— ! _ (1,8 + L2 )

J5 J10 Js W10 /107 ,/5

=sin~! 5 e = 45°

,\/56—81“ ~/2

= 45°,

. _( 3 . _2__ )

= S\ /50 T /50
(21) Show that

tan™

i
+
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This is the same as tan~ ;+tan“l+tan“§=4~5°,
1 1 10
1 1 7*3 21 1
a1 -1 2. —1 = Al S~ G -
tan 7+tan 3 tan 1-._1. i tan 20/ = tan 3’
73 21
I
-1z -1 2 = tan™! = tan~! {=
thea tan 2+tan 3 - T 1 3
2°3 6
tan™' 1 = 45°

(22) Find sin 4 from the equation_
n 1 A= cosec A —sin 4.

sin 4 = cosec A — tan § 4 =§;}-2— tan 1 4,
1 singd 1 2 sin®$4
“2sinid cosyA cossd 2sinidcosid” 2sin5A cossA
_ 1-2sin°34  cosd
“2singdcosid sind’
.. sin*4 =cos 4 =,/(1 ~sin* 4),
sin*4 =1 —sin%4,
sin*4 +sind = 1,

. . 1 5
sm‘A+sm’A+Z 1+ t1T 4
sm’A+ "/5

J5

sin® 4 =-3 =+

sin d= J ]*"/5

2 cosec 24 - sec A
2 04 L = .
(23) cot?(45° +34) 2 cosec 24 + sec A

cot? (45 + 3 4) = (cos 54 —sin 3 A4)*
(cos QA +sin 4 4)*
_cos’54—2singA cos 34 +sin® $ 4
“cos’j A+ 2sind cos 34 + sin® g A
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1-2sinidcossd 1-—sind

T 1+2sinidcosid 1+sind

1
" cosec A _cosecA-1
1  cosecd+1
+
cosec A

sec A cosec A —sec A
"~ sec A cosec A +sec 4

_2cosec 24 —sec 4
~ 2 cosec 24 +sec A’

2 sin 4 —sin 24
2 sin 4 + sin 24
2sind—sin24 2sind—-2sindcosd _1—cos 4
2sind+sin2d 2sind+2sindcosAd_ 1+cosd

1-(1—2sin’ 1 4) Qsm’éA _sin*3 4
T 1+cos*iA-1  2cos’id  cos’ 44

(24) Prove = tan® { 4.

= tan® 1 A4,

sin 4 + sin 84 + sin 54
(25) Prove that cosArcossA T oosEA" tan 34.
By formula, page 29,
sin 4 + sin 54 = 2 sin 84 cos 24,
cos A +cos 54 =2 cos 34 cos 24,
sin 4 + sin 34 + sin 54 =sin 34 + 2 sin 34 cos 24,
=s5in 84 (1 + 2 cos 24),
cosd + cos3A4 + cos 54 =cos 34 + 2 cos 84 cos 24
=cos 34 (1 +2 cos 24) ;

. sin 4 +sin 34 +sin 54 _ sin 34 (1 + 2 cos 24)

" cosd +cos 34 + cos 54 cos 34 (1 + 2 cos 24)
= tan 34.
(26) If 4+ B+ C=90° prove that
cot A + cot B + cot C = cot 4 cot B cot C.

cot Acot B-1

By Art. 19, cot (4 + B)= ———p— .
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Put 4 + B for 4, and C for B, and we have
cot(4+ B+ €)=t A+ BetC-1_,

cot C+cot(4d+B)
because the cot 90°=0;
< cot(d+B)cot C-1=0,
cot (d+ B)cot C=1,

cot Acot B—1
o “cot B+ cot 4
cot A cot B cot C—cot C=cot 4+ cot B;
*. cot 4 cot B cot C =cot 4+ cot B+ cot C.

(27) If A+ B+ C=180° prove that
cos®d +cos® B+cos®C+2cosdcosBcosC=1,
cos A =— cos (B + C) =— cos B cos C + sin B sin C,
cos*4 = — cos 4 cos B cos C + sin B sin C cos 4,
cos’ B=— cos 4 cos B cos C + sin 4 sin C cos B,
cos’ A+ cos* B
=—2 cos 4 cos B cos C + sin C (sin B cos 4 + sin 4 cos B),
cos® 4 + cos® B + 2 cos 4 cos B cos C =sin Csin (4 + B)
=sin Csin C =sin’ C
=1-cos’C;
. cos® 4 + cos* B + cos’ C +2cos A cos Beos C=1.
On the same supposition,
sin 24 +sin 2B + sin 2C = 4 sin 4 sin B sin C,
sin 24 +sin2B + sin 2C
=2sin 4 cos A + 2 sin B cos B + 2 sin C cos C,
but cos 4 =—cos (B+C), cosC=-cos(4+B),
and sin B=sin (4+C);
-. sin24 +sin 2B +sin2C = - 2 sin 4 cos (B + C)
+ 2 cos Bsin (4+ C)—2sin C cos (4 + B)
= (by expanding)
~2sin A cos B cos C + 2 sin 4 sin Bsin C,
+ 2 sin 4 cos B cos C + 2 sin Asin Bsin C,
—2cos Acos Bsin C,

+2 cos 4 cos B sin C,
= 4sin 4 sin Bsin C.

cot C=1,
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Also, sin 4 +sin B+sinC=4cos3 dcosiBcosiC:
sin C =sin (4 + B),
sin 4 +sin B=2sin (4 + B) cosi(4-B),
sin C = sin (4 + B) =2sin (4 + B) cos (4 + B),
3(4+B)=90"-}C,
sin$ (4 + B) =sin (90° - 4 C) = cos 4 C,
sin 4 +sin B +sin C =2 cos §C {cos 4(4 + B) + cos §(4 - B)},
but cos 4 (4 + B) + cos $ (4 — B) =2cos 4 cos {B,
*. sin .4 +sin B +sin C = 4 cos 44 cos { B cos 4C.
Or thus; since A + B + C = 180" then 34 + 4B +4C=90°,
sin 4 +sin B +sin C
=2sind4 cos 4 +2sin 3B cos 4 B + 2 sin §C cos 4C
=2cos}4 cos (B +4C) +2sin ;B sin (34 +3C)
+2cos4C cos (34 + 3B),
= (by expanding)
2 cos 34 cos 4B cos $C —2 sin 4 Bsin {C cos §4
+2cos 44 cos 4B cos 3C + 2sin 4 Bsin §C cos 34
+2singBsin A cos3C
—2sinBsin 4 cos §C
=4 cos 34 cos 3B cos ;C.
(28) If sin2x = (sin 3z)°, show that z=15°.
Subtracting each side fromunity, | —sin 22 =1—sin* 32,
cos’z — 2sina cos x + sin*x = cos® 3 r,
cosz —sinz =cos 3x=4cos’x — 3cosz,
sinz =4 cosz (1 ~ cos*z) = 4 cos x sin’x;
. sing=0. . 2=0, orm,

and 2 sinz cosz:%,

. 1 .
or sin 21=§=sm 30°%;
Sox=15%

(29) cosz + cosy =% W2+4/9)

, find z and g.
cos 3z +cos 3y =— =

J2
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The second equation is the same as

4 (cos®z + cos® y) — 8 (cos z + cos y) = — —- ; (page 28.)

Je

. s 5, _1(3 3.8 1}
. cos®x + cos’ y = {,JQ 2 "3

or (cos x + cos y) (cos® z — cos x cos y + cos’y)

=l(~/2+3—“/—3);

.. cos’x — cos x cos y + cos® y=3 (252 b f/,/%
2+ ,/3
- ?ﬁi&;‘*_-%/ﬁ, by multiplying by (\/3- /2)

" cos*z— cosx cosy +cos"y=i(5—~/6),
butcos’w+2coswcos_y+cos"'_y=i(5+2,~/6);
3coswcosy=i.3~/6;
1
cosxcosy:ZJG;
. cos’.t-‘zcosa:cosy+cos’y=%(5—2~/6);
cos.r—cosy==h%(~/3-~/2);
but cosz + cos y = —;- (W3 +J2).

By adding these equations, we have

3
cosz—"—/—, 01‘,/2. . &= 30° or 45°

By subtracting them

1 3
cosy=i-2-, or—*—é—-; .. Yy =45 or 30°.
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(1) Prove the following theorems,
: 2cos3d 2tanid 2
sind = cosec 3 4 “Sec 14 " tan $d+cotid
1
=cotz§A “cotd’
sin24 coseciAd—2sinlAd cotid-~tanid

os A

“osind cosec 4 4 “cotdd +tan i 4
’ - .
" 1+tandtan L4’
2 2cot34 1+secd
t Aﬂ = 2 = .
am cotzd—tangd “cot® 54 -1 cotid ’
sec A= sec’s4  cosec’;4  cotzd+tanid
“2-sec A cosec’ {A-2 cotyA-tanid’
cot A _cot’ A4 -1 2-—sec’JA cosec’ §4 -2
T Zcot A 2tandd = 2cotid °’
2
cosecA=]+tan $A cotid+tanid _sec 34 cosecid

2tan 1A 2 2
(2) cos*A —sin‘4 =sin2A4.
(3) tan (45°+A) +tan (45°—4) = 2sec 2 4.

(4) %tan (45° + 4) "é tan (45°~ A) =tan 2 4.

(5) cos2A - 1
1+sin24 tan2A4 +sec24 °

(6) s;g—t?—j +cos24=1.

(7) 4sin®(30° +4)=2sin4 +,/3.5in 24 +1.
(8) cos2A4 +cos2B =2cos (4 + B)cos (4 — B).
tan 4
©O) cosdd = e
(10) 8cot2 4 cosec® 4 = cot 4 cosec® 4 — tan 4 sec® 4.

(11) (cosd +4/=1sin 4-1)(cos A—,/=1-1)
=4sin"{ 4,
D
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(12)
(19)
(14)

(15)

(16)

an

as) If

19

(20)

(21)

(22)
(23)
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sin 0 1 0 3 30
vaethatl+2¢oso Y té‘ZCOtg—‘

Shew that tan 9° =1 +,/5 — /(5 + 2,,/5).
Prove that tan (45°— z) tan (45°— 3i)
_1-2sin2z
1+2sin2z"
Eliminate 6 from the equations
cos’0+a cosb=0; sin®0 +asinf=c.
m*~ 1

and cos® p =———,

If tan 0 = tan® =~ ¢ 3

2 b
2
{(cos e)’é +(sin )8}
~ 2cos 2a
1 +2cos 2a’

shew that m =

tan (¢ + z) tan (a — r) = find sin x,
x = 30"
ntanz  mtan (a-2)

cos*(@a—x)  cos’z

» shew that

tan (a — 22) = tana

If 4 = 3a cos 0 + a cos 38} shew that
4y = 8a sin 0 — a sin 30) (a®—a® -y
= 27a°z"y".
If sin (8 + 2) +sin (2a — B + x)
=(cos® B ~ cos®a) sin (@ + 22) — sin a (sin’ B - sin a),
shew that sec z = sin (a + 8) tan (a — 3).

If 2tan™ z = sin™ 2y, theny = .z"
cos¢p +cosf=a
cos 5¢ +cos 50 =4

Given vers™ (1 + z) — vers™ (1 - z)
=tan™' 2,/(1 - 2°), to find z,

Given { find cos ¢ and cos 0.

x==1, %and—l.
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-1 1 —- ~1 1 =T
(24) tan (;——-_ 1) tan (x+ 1) =3 find z,
2

x=*——_—~/3—1'

z x
(25) sec’a—sec™ b=sec” 5 —sec =, findx
b a i

x ==ab.
1 1 n
< =1 =1 = -1 ___ ~-l =
(26) tan™'z —tan™' y =tan 2y tan™ o~ 15
: find x and y.

(27) Prove that 4 + tan™ (cote A) = tan™" (cot 4).
(28) Find the sum of n terms of the series,

tan™ a 4 tan™! + tan™! &e.

a a
1+1.24° 172.8a
(29) If 4+ B+ C =180 then
(1) sin®J 4 +sin* 1B +sin’ JC+2sin{ Asin} Bsin C=1.
(2) tan 4 + tan B +tan C = tan 4 tan B tan C.
(8) cos24 +cos2B +cos2C=1- 4sin 4 sin Bsin C.
(30) If 4+ B+ C=90°% then
(1) cos24+cos2B+cos2(C =1+ 4sin 4 sin B sin C.
(2) tan 4tan B +tan A tan C +tan B tan 0 =1.

(8) tan 4 + tan B + tan C = tan 4 tan B tan C
+sec A sec B sec C.

CHAPTER IIL

16. There are six parts in every plane triangle, viz., the
three sides and the three angles, any three of which being
given, the others can be found, except the case where the
three angles are given; for it is clear that if you draw an
indefinite number of lines parallel to the base AB of the
triangle A BC, all the triangles so formed will have their

D2
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angles equal, but the triangles may have their sides of any
length whatever (see fig.) The angles of a triangle are
generally deSIgnated by 4, B, C, and the sides opposite to
them by the letters a, b, c.

The first proposition which we set out to prove is the
following :

The sines of the angles of a plane triangle are propor-
tional to the sides which subtend them ; that is,

sin4 : sinB : a: b

From any angle C of the triangle ABC, c
let fall the perpendicular OD then, by the b a
definitions,
¢h CD . D
ZC=smA, and OR =sin B, A c B

dividing the former by the latter, we have

sind CD CB _CB
sinB_ AC'CD AC”

t.e. sind : sinB :: CB: AC :: a

In a similar way, by letting fall perpendiculars from 4
on BC, and B on AC, we have

smB:sinC:=bd:e
sind :sinC :: a
We now proceed to find the cosine of an angle in terms
of the sides.
When the triangle is obtuse angled.
By Euclid, Book II. Prop. 12.

BC*=AB*+ AC*+2A4AB.AD...(1). .

Now jg——-cosOAD:—cos BAC, /]
because the cosine of an angle is

equal to minus the cosine of its supplement ;

* AD =- AC cos BAC,
this substituted in (1) we have
BC*=A4B*+ AC*- 2 AB . AC cos BAC,
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a*=c¢"+b*~2bc cos 4 ;
ct+bt—a®
2b¢

When the triangle is acute angled, as in the first figure,
we have, by Euclid, Book IL Prop. 13,

ACP=A4AB*+ BC*~24B.DB. ... (2).
DB
?C=cosB, DB=BCcos B;
this substituted in (2) gives
AC*= Ab*+ BC*-24B. B(C cos B,

or b*=c’+a*—2ac.cos B;

. COoS B—ﬁjC -
2ac
Now, by putting c for a, and a for ¢, and 4 for B, we have
VBirct-at
cos A = wbe
In the same manner
at+b7—¢c?
cos C= ~5ab
17. By p. 27,c0o84 =1-2sin’ ; 4,
2 2 2
* 2sinf3d =1 —cosA:l—b+—23)c—-g
2bc-b0*—c*+a*
= 2bc
_a —-(6‘—21)(‘«#0"') a —(l)-—c)“
2bc 2hc

Now, since the difference of the squares of any two
quantities is equal to the product of the sum and difference
of the same quantities, we have

NS (R S

Also, by p. 27, cosAd=2cos’A~1;

b”+c—a 20c + b* + ¢* — a*
Tebe T 2be

(b+c)’—a (b+c+a)(h+c—a) o
e e

2 sin

v 2cos’34=1+cosd=1+
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Multiply (1) by (2),

ssin®}A cos’&A=(a+6+c)(a+b—i)bg‘;:b+C)(_a+b+c).

Extracting the square root,
2 sin %Acos%A:J(a+b+c)(a+ 6—2(,(,2;—6+c)(—a+b+c)’
but 2sin4 cos{ 4 =sin4;

sin 402 @D Vo) arbra] (o)

This is generally put under a different form by putting
the perimeter

a+b+c=28.
From this equation subtract 2c,
a+b—c=28-2c=2(S-c¢).
From the same equation subtract 2,
a-b+c=28-206=2(S-0).
Also from the same subtract 2a,
—a+b+c=285-2a=2(S5-a)
Substituting these values in equation (3),

sin 4 ___J{QSQ(S—C) 2225—&) 2(8-a)}
_W{16(S-a)(S—-8) (§—o)}
2bc

o ISE=OE=BE=N ().

This is sometimes done in the following manner :—

b*+c* -
sin® 4 = (1 - cos 4) (1+cosA)=(1—~+2§w a?)

1 b’+c’—a')

( MY
_(at+c-b)(a+b-c)(b+c+a)(b+c—a)
- 4‘6201 3

whic} is the same as equation (3).
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From equation (1),

sin%A.—_N/(a."b"CZb(:‘b’*'C) \/(S b)(S

From (2),
cOS%A=~/(6+c+a)(b+c-—a) S(S—a).

4bc be ’
. _sindd ($=b)(S-0)
o tamléA“cos%A B S(S-a)

These values being of great importance, we shall collect
them for easy reference.

smA:—,J {§(S-a)(§-0)(S-c)}...... (a),

sinid = \/(S b)(S-C) ............... (®),

cos§A=\/§—(S;a).....................(c),
(5-8)(S-0)

tanld = \/ SS—a) e (d).

By the same method as above, sin B and sin C may be
determined ; but they may be more easily found from equa-
tion (4) thus, put B for 4 ; a for b and b for a, and we have

smB:ZZ‘,‘/{S(S—a)(S-b) (S=c)}een-n. (o).
Also putting ¢ for 4, a for ¢, and ¢ for a, we have
sin C-—,J{S(S a)(S-8)(S-c)}...... N

PRACTICAL OBSERVATIONS.

Equation () may be used in all cases where 4 does not
approach near to 90°.

Equation (b) may be used in all cases where A ap-
proaches near to 90°.

Equation (c) may also be used in all cases where 4 ap-
proaches near to 90°
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Equation (d) may be used in all cases where 4 does not
approach near to 180"

18. The area of the triangle ACB = A—BQEB

put CL wsin4; - CD = ACsin 4;

AC
. a-4BACsnd ).

2

Where A represents the area of the triangle. We may also
express the area of a triangle in terms of the sides from the
above.

By equation (4),
sin A = = /{8 (8 - a) (S~ 8) (S = ¢)}-
This substituted in equation (5) gives
A=3 4B.AC. S (S =a) (S=b) (S -0)}
1

=L be. e SIS (S = a) (S=8) (S~ o)}

=,/{8(S~a)(S-b)(S-0)}

19. When two sides and their included angle are given,

a_sind
7 sinB’
Add unity to each side of this equation,
a sin A a+b sinA+sinB
b+l—*l-*B~ +1; .- —b-= SII;.B ...(1).
Subtract unity from each side of the same equation,
a sin 4 a-b sind-sinB
R e R Ty e OF

Divide (1) by (2) and we have
a+b sind+sinB
a-b snd—sinB’
Butby Art.17, sin 4+ sin B=2sin4(4+ B)cos 3(4- B),
and sin 4 —sin B=2sin}(4 -~ B) cos $ (4 + B);
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a+b 2sin§(4A+B)cosz(A~B) N L
“ a=b 253 (A=B)coss (47 B)~ n#(A+B)eot3(4-5)
_tang(4+B)  cot3C
“tani(4-B) tan§(4-B)’
since tan 3 (4 + B) = cot 3 C.
In logarithms,
log tan % (4 — B) =log (a — b) ~ log (a + ) + log cot 5 C.
¢ sinC
From — =", -, we have
a sin 4
log ¢ =log a +log sin C—log sin 4 ;
¢ may also be found from the formula,
a®+ b - c*

cos C =—uh which may be adapted to logarithms

in the following manner :
=a'+b—-2abcos C;
but cos C =1-2sin*5C;
SoC=a"+0"-2ab (1 -2sin’ 5 C)
=a’+b*—2ab+ 4absin®3 C
=(a—b)*+4absin®4C

—(a—By {1+ (a“:‘%';), sin 4 C} ;

NN
now since @f_ai), sin® 5 C = {21_13"_2 gflg—zg }2,
which, being a square, is necessarily a positive quantity,
and as this may be of any magnitude whatever, we may put
tan® 0 = (a:l‘_al;), sin®3C;
then ¢’ = (a —b)*(1 + tan®0) = (a — b)*® sec*0;
“c=(a-1b)sech,
which is adapted for logarithmic computation, thus :
log c=log (a—8) +log sec 6 —10.
The following is useful in cases where @ and & are
nearly equal :
f=a*+b"—~2abcos C;
but cos C=2cos’3C~1;
D5
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L l=a"+ b0 ~2ab(2cos*5C-1)
=a®+b*+2ab— 4ab cos*: C

2
=(a+b) —4abcos’3; C=(a +b)'{1 _4'_"(%%)255}
2
Now 4—(1(%%9% is always less than unity,

for ./ab is less than 1(a + b)*, or (a+ b)? is greater than
4ab, and since the cosine cannot exceed unity, it is evident
that the above is a proper fraction, and we may put
sin®f = ialﬁ:-o‘s’ %_g .
(a+0) ~°
.. ¢*=(a +b)* (1 —sin®0) = (a + b)* cos’ b,
or ¢=(a+ b)cosd,
log ¢ =1log (a + b) +log cos § - 10;

24” b

since tan 0 =
a-b

sin 1 C,

log tan 0=]og2+%]oga +é—logb +log sin} C

- log (a-b).
3,4

. . 2a*b
Also, since sin 0 = 23 8 3C,

log sin0=10g2+% loga +%logb +log cos 4 C
— log (a +b).

ON THE AMBIGUOUS CASE.

20. When two sides of a triangle and the A
angle opposite one of them are given, there
is evidently an ambiguity ; for if C4 be taken 4
less than BC, but greater than a perpendi-
cular from C on B4 or BA produced, and if B
with C as centre and C4 as radius, a circle be B ¢

. g—'§F—I—’>\/a—6 or a+b>2+/ab or a? +2ab + 4% > 4 ab,
or a®-2ab+56%>0, or (a—b)> 0;
for any even power of a quantity is positive.
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described, it must necessarily cut the line BAA4’ in two
points, while in all other cases it will either fall short of it
or touch it only in one point. When 4C is less than ¢ sin B,
the triangle is impossible: but when 4C =a sin B, the tri-
angle is right angled, and there is no ambiguity. And when
AC is greater than BC, there can be only one triangle, and,
if it fall between these limits, there is an ambiguity, for
there will be two triangles having the same data ; thus when
the least side A( is opposite the given angle B, it is evident
that either 4BC or A’BC may be the triangle required.

21. To find the area of a triangle in the terms of the
radius of the inscribed circle, and sides of the triangle.

The triangle ACB is composed of the triangles A0B,
AOC, and BOC ; O being the centre of the inscribed circle.

Now the area of the triangle

AB . OD

40B="2 20 2

40C = ,_4_9_.2_05 = 925,

Boc-BC. O o,
Hence the area of the whole triangle A D B
Since 2+ bto_ S, the semi-perimeter, we may express

the radius in terms of the sides; putting, as before, A for
the area of the triangle,

A
A=18; .. Tm g 1);

but A =,/{S(S—a) (§-0) (§-c)} by p. 56;
N 8E=0) (8=1) (8-}

S

- ,\/ (s- “_)_@; DICET . &)

~ e
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22. To find the area of the triangle in terms of the
radius of the circumscribing triangle and the sides.

By the 20th prop. of the third book ¢
of Euclid, the angle 40B is double the //

angle ACB.

Draw OD perpendicular to 4B,
which will bisect the angle 4OB and
the side 4B.

Now by p. 56, A & A
AC.CBsinACB_AC.CBsindoD ~~_" 7
A= =
2 2
_{)ﬂ AD_b_a 1 éB_abc
T2°04 2°2°04 4R"
We may now find the radius of the circumscribing circle in
terms of the sides; for since

abe abe abc
STar T PranTaysE-a b s—a @
Multiplying (2) by (8),

_abe _ abe
T4 " 2(a+b+c)’
By dividing (3) by (2),

B abe

T 4(8-a)(S-b)(S-¢c)

Rr

Ezamples.
(1) In a plane triangle if a, b, ¢ be the sides, and 4, B,C
the angles, prove that
¢ =bcos 4= ,/(a®—b* sin 4).
V+ct-da
2c
2bc cos A = b* + ¢* — a?,
¢®—2bccos d=a*-b",
c*—2bc cos 4 +b° cos® A =a*~ b® + b cos® 4
=a'— (1 - cos’ 4) b*,

Since cos 4 =
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¢'- 2bccos A +b°cos®’ A =a*—b*sin’ 4,
c—bcosd ,/(a*-b"sin’ 4),
c=>bcos 4+ ,/(a’~b*sin’ 4).

(2) Find the area of a square when the difference be-
tween the diagonal and the side =m feet.

Let z = side of the square, then z + m = diagonal,
2’ + 2 = (z + m)’, or 22° = (2 + m)’,
z,/2=x+m,
z,/2-x=m,

2(J2-1)=m,
x=:/2"'__l-rJ9+ 1)m,
2 =m(\/2 +1)%

(8) Given the area, angle C, and @ +b; find the sides
of the triangle

ab sin C = 24,
2A
ab= o

Let a+b=m,
a’+ 2ab +b°=m®,

8A
sin C’

a’-—2ab+b’=m’——§[—l—,
sin C

7 a_ 8A_>
“ b_\/(m sin C/’

but a+b=m;

m+\/<m’——8—A >
_ sin C,

4ab =

= = s
m"\/<’”" i )
sin C
b= 5 ,
a*+ b —c2

cosC=~2ab R
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whence ¢ may be found; or ¢ may be found by the formula
¢* = (a + b)' — 4ab cos’ g— (p- 58).

(4) Given c, the base of an isosceles triangle, and p the
perpendicular from one of the equal angles upon the op-
pc’
4/(c*-p")’
By the 13th Prop. of the second book of Euclid

posite side: shew that the area =

AC*=c*+ BC*-2BC.BD, c
but AC = BC;
- BC*=c¢*+ BC*-2BC.BD;
. ___c’__= c? D
77 N Cay S
_BC.4D pc? 3

IR W/ CETD)

(5) If 0 be the angle between the diagonals of a paral-
lelogram whose sides @ and b are inclined to each other at
an angle a,

then tan0=2ZI;j‘2,a.
Let DB=a, and AB=b, B s D
then a*=0RB%+ 0OD*+2B0.0D cos ¥, "
=08+ A0* ~240.0DB cos b,
a*-b*=240.0B cos0 +2B0O.0Dcos & c

=2B0(40+0D)cosf =2B0.4D cos ¥,

area of parallelogram =ab sina; but 4D.BOsin 6 is also
equal the area, hence by division
absina AD.BOsinf 1

@ —b “2BO.4Dcosd 20
< tanf= szi]z; .

(6) In a triangle 4ABC prove that
sin(4-B) o'-¥
simC ¢
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sin(A—B)_ninAeo:B—eouddnB

sin C sin C R
sin 4 _tnB 4
==EinCm'B sin C

e d+c-b b b+’ -a

T ¢ Qac c 2be

ad+ct-b V+c*-d

2¢ 2c
=¥
cl
(7) Prove that the area of a triangle ABC
_ a+b+c
“4a(cot A+cot B+cotC)’
2 2 -l
Since cosd = b__tg_c{;_c_a_ , and by p. 56, sin4 = 26—%
a’+ -8 . 24
cOSB=*—-2*a°c—~, SlnBSTI'E,
24 7% a3
cosC=2 t’ibi’ sin C=?a—1?'

By dividing each in the first group by the corresponding

one in the second, we have

b‘3+cﬁ_aﬂ aﬁ+cﬁ_b3 a2+b1_cz
YN v

.. by addition,

cot 4 =

P+ —at+d+ =D +a+ b=

cot 4+ cot B+ cot C = iA

_a+b+
==k
Ae a+ b+
"~ 4(cot A +cot B+cotC)°
(8) From the top of a mountain a miles high, the visible

horizon appeared depressed 4°; required the diameter (2r)
of the earth, and the distance (d) of the horizon.
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In the annexed figure CM=r+a, % b
and since HMB=A, BCM is evidently=A4,
CMcosA=BCor (r+a)cosd =7,

acotA
e acosd 1-cosd y
“1-cosd sind ’
(Dividing numerator and denominator
by sin 4)
acot AsinA acotd.2singAcosz 4
T 2sin®sd 2sin°s 4

=acotAcotz4;

BC _ r_ L. r acotAcots A
BM—COtA, Ol'-d'—-cotA, ..d_m=____éﬂ___.—

=acotsd.
(9) If L =length in miles of an arc of a great circle of
the earth, and D the depression in feet of one extremity of it

below a tangent to the other, then D = i; L?nearly.

AC =17920 miles nearly, AB =L, HB = D feet =§2’%6 miles,

«.+ the triangles A HR and ACB are similar ;
~ HB : L : L: AC,
D H A
52—80:L::L:7920, .
920

Ry o |
D'5280 L

3_ 2
D.3-1,

212
s D= ~5~ hearly.
(10)  Given the perimeter, and the area of the triangle,
and the angle 4; find a.
AS'( S— a)
be

By p. 55, cos 34 =
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besind =24, . %
L S(S-a NG
cos’34 = (2 ) = "(QA )*.QSlngACOS%A.
Divide by sin 3 4 cos 3 4, and
cot 3 A_§-Asa, or Sa=8~Acot;4;
. a_;S“—Acﬁéa
sa=—— .
(11) Given the area, side ¢, and 4 + B ; find 4 — B.
a*+b'— ¢
Since cos C =2 ~,
2ab
a* + b*— ¢ =2ab cos C,
a® +b°*=c*+ 2abcos C,
4A
Qab—mﬁb’
a*+ 2ab + 0*=c* + 2ab cos C + %A
sin C
44 C+ 44
sinC °% sinC

=c’+44A{cot C+,/(1 + cot® C)},
a+b=,/[c¢*+4A{cot C+,/(1+ cot* C)}].
In the same way
a—b=,/[c¢"+4A0{cot C—,/(1 + cot® C)}],
a+b_tangd+B ¢*+ 4A{cot C + /(1 + cot® C)}
a-b tanid—B A/ &+ 4Alcot C—, /(1 +cot? C)}’
c*+ 44 {cot C—, /(1 + cot’C)}
< tang (4-B)=tang (4+ B)\/c +4A{cotC+://(1+cot"C),.

(12) If from one of the angles of a rectangle a perpendi-
cular be drawn to its diagonaﬁ and from their intersection,
lines be drawn perpendicular to the sides contaning the
opposite angle, then putting P and p for these last perpen-

culars, and D for the diagonal, Py p§ =Di,
Let the angle BAG =6, then ADsin6=DE=P;

2
but by (Euc. vi. 8th Cor.) AB.AD=A4C*, - AD= j% ;
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but AC=A4Bsind;
2 I 2
. AD=AB S8 gt C[Tj |
and since P = AD sin 6, we have -~ ¥
P=ABsin® 0 = Dsin® 0.
In the same way we have
p=Dcos’0,
. P2= D¥sin0, and p¥= D¥cos? 6.
By addition,
Piy p = DY(sin® 0 + cos? 0) = DY,
(18) Iftwo circles, whose radii are @ and b, touch each
other externally, and if 0 be the angle D

contained by the two common tangents
to these circles, shew that

4(a - b)Jab
C(a+by T B
let AB=xz, OB=EC=a+b, CD=BD~EQO=a-b;
BD DC a-b

AB T EC  a+b>

cos 40 = /(1 —sin'§‘0)=\/{1 —(Z%i)g} __.%:{?z ,
4(a-10)

sinf=2sin30cos 30 = (aﬂ—)f,‘/ab.

(14) To find the distance between the centres of the in-
scribed and circumscribed circles, the figure being the tri-
angle ABC.

Let O and o be the centres of cir-
cumscribed and inscribed circles,

Oo=3, O4=R, on=r,

A -

sinf =

-
sin 0=

. _ r
O=sinid’
2 040=04C —-odc
=1(180°— 40C) -1 4
=00°-B~44

=90°- B~{90°~ 3 (B +C)}
=3(C- B);
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3= Ao*+ Ao*—2 doAo. cos O4o
=R’+Sin,%4— mff;A cos (C- B);
(O~ R)sin® 34 =r"—~2Rr.sin{ dcos (C - B)
=7"~2Rrcos (B + C) cos §(C - B);
¢~ R*)(1 ~ cos A) = 2r* — 2Rr (cos B + cos C).
Similarly,
(3 - R*)(1 - cos C)=2r* ~2Rr (cos B + cos 4).
Subtract
(8°— R®)(cos C —cos A) =—2Rr . (cos C — cos 4),
o0~ R =—2Rr;
 ¥=R'~2Rr; . 3=,/(R*-2Rr).
(15) If the angles of a triangle be in geometrical pro-

portion, ratio % » the greatest side
= 2 perimeter xsin 12°51'25” g .
Let P=a +b +c, a = greatest side,
A+3i4+14=180
$4=B, 14 =C,

A= 102"51'25”;
B= 51025'4-2"g
C= 25“4-2'51":;
B si
P=a+b+c=a{1+Il+5}:::{1+s—fgﬁ+ﬂn——(’j
a a sind sind
sind +sin B+sinC
sin A ’
Psind
“sind +sin B+sinC

2Psin3A cosi A Psinid
“4cosyA cosiB cosiC~ Zcos 88 cos §C”

=a
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But 44 =B, }B=C,
_ PsinB 2PsinjBcos}B_ PsinCcosC
“2cosCcos3C~ ocosCcosiC  cosCcos§C

_Psin? 2Psing(MosgC
T ocosiC cosg €

t——2—=2PsinC,

= 2 perimeter x sin 12°51'25" —g- . Answer.

(16) The sides of a triangle are in arithmetical proportion,
its area =§ of the area of an equilateral triangle, having the

same perimeter, shew that the greatest angle =120°, and that
the sidesareas 8 : 5 : 7.

Let a2, a, a + x =the sides, then 3a = perimeter ;

. a=side of equilateral A, and g = half its base,

»_'E)_ al-a® u/__ itude =2
\/( 1 ‘\/ i =the altxtude—QJS.

Now -.* both A’s may have the common base a; .. area
equilateral A : area of the other :: altitude of equilateral
A : altitude of the other;

or, 1 % : gJB : 3—(£~/3=AD,

=a’'+2a /{(a .1,)’ = ’}+(a z)*— IQOZ)a’;

e 21 2
or, 2axr= a+2aN/{(a x) looa} 2ar,

d4azx = a+2a~/{(a z)*~ 100 a?,
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4z —-a= 2\/{({1 x)’——l-oaa’},

162°-8az +a* =4 (a— x)’—gg a?

=4a°-8ar +42°- gia’,

5

2
122° 3a’-Q—Za’,
4x’=a'—%a’,
16a*
2 —_—
=05
. 4a® 2
X =7, -_—50,
3
a—m=-5-a,
-
a+z==1a,

4C=3, BC=5, AB=7,

?52 . 4, '_75_” are the three sides, which are as 3a, 5a, 7a,
oras3,5,7;
cos 0= A0+ BC-AB' _§+5-7"_ 15 1
2AC.BC ~ 2x8x5 80 2’

but cos ]"0"—— 5> therefore C = 120°.

(17) The angles of a triangle are as the numbers 1, 2, 3;
and the perpendicular from the greatest angle upon the

opposite side is p. Shew that the area = f—/%
A+24 +84=180;
s A=80 B=60 (=090
sind : sin ACD = p : AD, (fig. p. 52)
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N3
sin ACD 2 )
4D = W=PT_=P~/3’
2
sin B : sin BCD :: p : DB,
1
sin BCD 2 P
PB=r “gum ~P U
2
—AB = p__Sp+p_4p
AD+DB-AB_pN/3+~/3_ J3 ~ 8’
ABxp_4p p_2p°
but area= 2 ﬁxé_ﬁ

(18) The angles of a triangle are as the numbers 2, 3, 5,
and the side opposite the greatest angle =100 feet ; find the
remaining sides and the angles:

24 +34 +54 =180°;

oo A =36°
B = 54"} the angles,
C=90°
sinC : sinB ¢ : Db,
sin B
b=c sin O’

log b =log ¢ +log sin B —log sin C,

log ¢ = log 100 = 2:00000
log sin B =log sin 54° = 9-90796

11-90796
log sin C' = log sin 90° = 10:00000
1-90796 = log 809
sinC : sind :: ¢ : a,

sin 4
sinC’
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log a =log c +log sin 4 —log sin C
log ¢ =log 100=  2:00000
log sin 4 =log sin 36° = 976922

1176922
log sin C =log sin 90° = 10:00000
176922 = log 5878
a=158178) .
b =809 } sides.
(19) Find a point within a triangle at which the three
sides shall subtend equal angles :
BC=a AP =2z
AC=1% } BP =y } .
AB =c¢ PC==z
Then ¢ APB = BPC = APC =120°;
.. the cosine of each = — %, and the sine of each = "-{2—3 ;
a*=DBP*+ PC*~2BP. PC cos 120°

~BP*+ PC*-2BP. Pc(- ;)

= BP*+ PC*+ BP. PC,

b*= AP*+ PC*+ AP . PC,

¢ =4AP*+ BP*+ AP . PB A B
@+ 0+ =20+ 29 + 22" +ay + ys + 22

Let A ABC=m?,
m'=ABPC+AAPB+AAPC;
. _y2sin120°  aysin 120° 2z sin 120°
mETTe Py 3

—"—/; (zy + yz + as),

[

4 2
x_y+yz+xz=:/~§,
S8zy + 3yz + 8xs=4m" /3.
But 2 (a’+ 35+ 2°) +(ay +ys +xz)=a’+ b* + ¢*;
2@ +Y +N)+ 4 (vy +yz +ag)=a"+ 0+ +4mt /3,
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3 2 2
x’+y’+z’+2(xy+yz+xz)=(?—i£-+—c- +2m’,J3),

2
2 2 2
&'+y+2=\/(g——-—l-—%—.tf +2m’J3)=ﬂ,
z+y+2=p,
z+y=Lf-3,

2®+ 2zy + y*=(B —2), but 2’ +y* + xy=c’;
way=(B-2)7 -
4m?
3 K

Also, since ry + 23 + yz =

$J

.z-_y:—f:—/y-; —2(y+a); but z+y+z=0;

sy =2 (8- 0);
o (B89 =2,
or (B-2+2) (ﬂ-—z)—&:%"g;
ﬁ’-—ﬁz-c’:%,
ﬁ3=ﬂg—cg—% =a—’i—l;iﬁ+2m’,\/3—c’ —-4"§

a®+ bt +2m’.
= —JS ;
1/a®+b*~c Qm’)

- z=ﬁ<*—2*—+ J3

1/0°+c*-a’ Qm’)

Also I=F<——2———+~/—3 ?
and g (“itﬁi:éf+§ff)
I=p\ T2 J3)"

(20) An object 6 feet high, placed on the top of a tower,
subtends an angle = tan™ ‘015, at a place whose horizontal
distance from the foot of the tower is 100 feet, determine the
tower’s height.
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Let DAB=a, AD=3z, AB =y,
then tan a =015, .. a=51"33";
*. sin @ =01513, cos a =-99989 nearly.
Now 2 A DAB = zy sin a =01513zy.
Also 2AADB = AC x DB =100 x 6 = 600 ;

. *015zy = 600,
xy = 4000
.‘t,+‘l/g-62 x2+yu_62
cos a = 2y or *9999 = — 2zy
. 2 +y' =36, 5
9999 = ~ 80000 . 2+ y" = 80028
2zy = 80000
D 2® + 2xy + y* = 160028
5 2t —2xy + y* =28
z +y = 400035
r—y= 5201
Iy c 2r = 4053206
x = 202663
2y = 394744
y=197372,

BC = /(g - AC)
= J(197:372" - 100%)
=,/2805576384
= 17023188 feet.

(21) From the top of a mountain 3 miles high, the visi-

ble horizon appeaied depressed 2° 13’ 27”; required the
diameter of the earth, and the distance (d) of the horizon.

Referring to the figure and formule at page 64, we have
r=acot 4 cot 34,

-3=cotA, r=dcot 4;
~.acot 4cot §4=d cot 4
d=acot 3 4.
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Here a = 3 miles, and 4=2°18"27";
<. d=38cot 1°6’ 435"
log 3= 047712
log cot 1° 6’ 433" = 1171194

12-18906
10
2:18906 = log of 15454 ;
o d=15454,
r=acot dcotld
=a cot 2° 18’ 27" cot 1° 6’ 435",
log r=1og a +log cot 2°13' 27" + log 1°6’ 434" ~ 20
log 3= 47712
log cot 2°18' 27" =11'41075 »
log cot 1°6’ 433" = 1171194

23:59981
20

859981 = log 3979
W r=238979; . 2r="7958.

(22) A person, at a known distance from two towers,
observes that their apparent altitudes are the same ; he then
walks a given distance towards them, till the angle of eleva-
tion of one is double that of the other; find the heights of
the towers.

Let z and y = the heights,

AB = a, and a, (3, the angles,

AD=b,

CB= c, A R

CD=d, ¢ B D
z
a

tan a = =%, tanﬂ:':—;, tan2ﬁ=~‘:;

2tan 3
1—-tan®3

but tan 28 =
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and z='—zg—/,

2y
2dy b _ay . 2 _a
d-y~ 7T b’ C -y be’
(& -y)a=2dch; tl’—y‘.—-ga—c—b,

_ay _a _ 2dcb
=370 ( a )’

i -2
=% ( ad ) ’
(28) Inthe arc 4B of a circle, centre O, AC is taken
=sin 4B ; then will sector COB = segment ACB.
The sector COB + sector COA

=A BOA + segment BCA,
or sector COB + AC é

=segment ACB + BD TQ- s

but BD =arc AC;
.. sector COB = segment ACB.

PRACTICAL REMARKS ON THE SOLUTION OF TRIANGLES.

23. In working out the various problems in the solu-
tion of triangles by the tables, when one or more logarithms
have to be subtracted, it is better to write down their com-
{)]ements, or what each of them wants of 10, instead of the

ogarithms themselves, and then add them altogether, sub-
tracting as many tens from the index of the sum as there
are logarithms to be subtracted.

E2
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Thus, if the logarithm to be subtracted be 3:6947362, it
is the same thing as to add its complement 6:3052638, and
then to subtract 10 from the sum; the easiest way to per-
form the subtraction is to begin at the left hand, and sub-
tract each figure from 9 except the last figure on the right,
which must be subtracted from 10.

If the index of the logarithm be greater than 10, write
down what it wants of 19, and take the rest of the figures
from 9 as before ; observing, that after the addition is made
20 must be taken from the index. Thus, the complement of
the logarithm of 186874563 is 6:3125437. If the logarithm
of a decimal which has a negative index is to be subtracted,
add the index, considered as positive, to 9, and then find the
complement of the rest of the figures as usual, and subtract
10 from the index of the sum. Thus, the complement of
the logarithm of 2:5674.586 is 11:6325414.

24. Before proceeding to the next examples we shall
shew how the trigonometrical tables are constructed. (See
Lefebure de Fourcy’s Trigonométrie, p. 35.)

Let us at first find the sin 10”; we have before stated
that if the diameter of a circle be unity the circumference
= 8-141592653589793 = =, and when the radius is unity the
semicircumference = «, and since there are 04800 seconds
in 180° we shall have in parts of the radius

” ” .
arc 10" = 64800 = 000048481368110.
Now in very small arcs the sine and the arc are very
nearly equal, hence the above may be considered as a good
approximate value of the sin 10”.

25. We proceed now to shew that in the first quadrant,
the arc is greater than the sine and less than the tangent.

Let AP be the sine of the arc AB, and 47T the tangent,
and suppose this figure to turn round OP till the point 4
falls on C, we shall have the arc 4C > the chord 4C, and,
consequently, the arc A B > AP ; hence, the arc is greater
than the sine. We have, also, the arc 4C < (4T + CT), and
therefore AB < AT.

Hence it follows that if ::5 differs little from 1, the

. a .. .
ratio —  differs still less.
sin a
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Also, as the arc decreases the ratio of that —~_

arc to its sine becomes as near to unity as we P

please; that is, this ratio has unity for its T

limit. P
sina_  tana 1

And since tan a =

5] . . = . 0

cos a sina cosa
Now, diminishing the arc (which is supposed less than
90°) the cosine increases and approaches unity as nearly as

. .1 . tan a .
we please, that is, the ratio or its equal , — continually
cos a sin a
diminishes, and has unity for its limit.

The arc being greater than the sine and less than the
. a
tangent, the ratio oin a can never be less than 1 nor greater

tan a . . . .
than sina’ and since this last ratio can approach unity as
nearly as we please, the former one will also approach
unity as nearly as we please, and it is on this account that
we take the arc of 10” for the sin 10”.

26. We must now proceed to determine the degree of
approximation

)

10| =t

. .1 1 1
sin @ = 2 sin éacos 5% and tan§a>

.1

—_Sln§a> a; . sin1a>lacos]a-
or =—=y= 7% smaa=; g%

cos sa

or 2s'n1 a L
1 §a> COSéa,

nd2s'n] cosla>aco’1 r sina 21(1
- —_ - > -a:
al 1 Oa S ztl,O a Cos H

1 1
t 2 _ = — gsin? - .
but cos 2% 1 -sin 3%

. P |
s sina >a(1—sm"§a>

T\ a®
sina>a{1 —(§a>}>a—z.
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Applying this result to the arc of 10”, taking the near-
est value to five places of decimals, we shall have the arc of

10” < *00005, then i (arc 10”)* < *000000000000032 ;

hence we have
sin 10”7 > {‘0000484-81368110 - '000000000000032};
or sin 10” > *000048481368078,

we see that this sine only begins to differ from the arc of 10”
at the 13th place of decimals, and taking the nearest decimal
it is the same; hence it follows that we may take

8in 10”=+0000484813681,
and we may be assured that the error will be less than unity
at the 13th place of decimals,
and since cos 10”=,/1 —sin® 10”, we have
cos 10”=-9999999988248.

27. We can now successively find the sines and cosines
of 20”, 80”,... and so on up to 45°, by means of the for-
mule (1) and (4), given at page 28,

sin (a + b) = 2 cos b sin a — sin (a - b),
cos(a +b) =2 cos b cosa — cos (a — b) ;
we can consider the arcs a—b, a, a + b, as three consecutive
terms of an arithmetical progression whose common dif-
ference is &, if we put ¢, ¢/, t” for these three terms, we
have
sin =2 cos b sin ¢ — sin ¢,
cost”=2cosbcost' - cost;

consequently, to obtain the sine and cosine for every 10” we
must make 6 =10", and putting « and 3 for the known
values of the sine and cosine of 10”, we have

sin 0 =0, cos 0 =1,
sin 10” = a, cos 10" =j3,
sin 20” = 23 sin 10”, cos 20” =23 cos 10" -1,

sin 80” =203 sin20”—-sin 10”, cos 30" =23 cos 20— cos10”,
sin 40” = 23 sin 30” — sin 207,  cos 40” =23 cos 30" —c03 20",
&e. &ec. &ec. &c.
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But as 8 differs very little from unity, 23 is nearly = 2,
and the calculation can be still more abridged ; put £ for the
difference 2 —2/3, we shall have £ ='0000000023504, and
23 = 2 — k, consequently the value of sin ¢” becomes

sint’=2sint’ ~ksint —sint;
. sint” —sin ¢’ = (sin ¢’ — sin t) — k sin ¢

In such a long series of calculation the errors multiply
considerably, and we therefore cannot be sure of the decimnals
being correct to the end, but, by using the formule given
in Art. 15, we may verify the results, for the number of de-
cimals common to both processes may be relied on as exact.

We may remark that when the radius is unity the sines
and cosines will be fractional, and, consequently, their loga-~
rithms will be negative, in order to render them positive,
the radius is taken =10".

EXAMPLES.

In the right-angled triangle 4 CB, given the hypothenuse
AB =1785395 yards and the angle ABC =59°387 42", to
find the other two sides.

To find AC or b. To find BC.
b=csin B, .a=ccosB,
or log b =log c+log sin B—10 |log a = log ¢ +log cos B — 10
log 1785395 ... 32517343 log 1785:395 ...... 32517343
log 59°87'42”... 9°0358919 | log cos 59° 87’ 42" ...9-7038132
log b 3:1876262 | log a 29555475
~ b=1540'0874. <. a=002.708.

In the triangle ABC (see fig. p. 52), given a=0459-31
yards, b=8032'29 yards, ¢ = 824258 yards, find 4 ;

L J(S=B)(S—0¢)
sin}d= \/—-—_&?——’
28 =25734°18, §=12867'09, S—6=48348, §—c=4624-51,
log sin § 4 =10+ {log (S ) + log (S - ) ~ log b~ log o},
2log sin 3 4 =20 +log (S - b) +log (S~ c)—log b —logec,
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log (§—-56)= 86843785
log (§—-c¢)= 36650657
Comp. log & = 6:0951606
Comp. log ¢ = 6-0839368

2 log sin 4 4 =19-5285416,
logsing A= 97642708,
34 =85°81'47",
A=71°8"34".

CHAPTER IV.

ON POLYGONS.

28. To find the radius of a circle described about a
regular polygon of n sides.

Let R=AC =radius, 4B one of the sides C
of the polygon =a, 4CB the angle subtending
one of the sides of the polygon, then n times
the angle ACB will be the sum of all the </ o \-
angles, or 360°; A8
0 0
zACB=§%)—; LACD=¥,

since CD bisects the angle 4CB,
RsinACD = AD, or 2R sin ACD = AB;
AB AB
“2sindCD~ . 180°
2sIn

0

180
1AB(:osec 8
2 n

1 0
=—@ C0SeC —.
2 n

29, If now we suppose 4B to be the side of a regular
polygon described about a circle, then CD will be the radius
of that circle, which call 7,

0
then }(;'g =cot ACD = cot IBnO H
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18 0 0 0
. CD=r=AD cot- 9—=1ABCOt1§0—=1a cotl,s_(?.;
n 2 n 2 n
1 180° °
R+r=-a(cot 8 +cosec—]—80—)
2 n n
coslﬂ()“
__1 n . 1
=% 1800 . 18()"[
sin ——  sin-—
n
0° a ,9
1 1+ cos — 2—<2c s° — “cot9°°
=s4a S = o S =5 ’
2 sin — 2sin9—cos—:- - "

,180°
1, 180 180° 1 ,°%%C Tp”
R.r=;a cosec— = €0t~ — =2 0% =i,

sec -
n
1 ° 80°
R _ —2— a cosec ~—h cosec ” 1
r 1 180°  180° 180° ~  180°°
—acot - — CcOos coseC-— ~ COS -
2 n n n

30. To find the area of a regular polygon of n sides
inscribed in a circle.
The polygon is composed of as many triangles as there

are sides of the figure :
. . 180° 180°
area of the triangle ACB = AD.CD =r sin — ~Teos

. 180° 180° 0
= r¥sin —i:r cos-—-=%r’sin360 .

Hence the area of the inscribed polygon = » times the

0
triangle ACB = g 7% sin 3(;0 .

Or thus, the area of the triangle ACB = AC. CB:“ 4CB

0
r* sin 360—
n

ES
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0
.. area of polygon = 2 r*sin 560 .
2 n
31. For the circumscribing polygon. N
AD 180°
Let CD=r, o) M ACD=tan—;—;
Oo 0 ’
v AD=CD tan By an 187
n n
0, 180" 4 b B
area of A ACB = AD,CD =r*tan et
. . 180°
area of polygon = n times the triangle ACB = nr® tan et
n , . 860° 1 in 360°
area of the inscribed polygon g7 T 3
- ay = - o)
area of the circumscribed polygon nr® tan 1 80°  ¢in 1_12
1 .. 180° 180°
.25 €os — -~
2 n n , 180°
= . 180° seos
sin
n
180°
cos ——
n

The area of a circle whose radius is r = =72

From the above the area of a polygon inscribed in a circle, is

sin?—’—r

fr’sin36oo=2r' mglr—=1rr' z.
2 n 2 n 2w
n

As we increase the number of sides, the area of the poly-
gon approaches nearer and nearer to that of the circle, and
when n is infinitely great it becomes equal to it, for then

. 27
sin =—
n =1:
2w

. area of the circle = =r* n

?-'{E is an infinitely small angle, therefore
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Examples on the two preceding Chapters.

(1) Given the perimeter of a right-angled triangle, and
the radius of the inscribed circle; determine the sides,

S=a+b+c, 9-[3=A=Sr,
2 2
ab=28r, a+b+c=285, a+b=28-¢,
a+b=28-¢c=28-(S~r)=8+r,
a+b=S8S+r,
a’+2ab+ 6= 8" +28r + 7%,
dab = 88r;
a®—2ab + b0*= §*—~6Sr + 17,
a—b=,/(8"-68r+717°)
a+b=285-c,
2a=28—c+,/(8*=68r+ 1),
a=2S—c+,/(S’—6Sr+r’)
2 s

26=28-c—,/(8*-68r +1°),
_28—c— /(8- 687 +7°)

b 2
c=8~-r
a*+2ab + b* = 48%~ 48c + ¢*
a® +0%= c
2ab = 48"~ 4Sc, but ab = 28r,
. 48r =48~ 48c
48c = 48% ~ 48r
4c=48 —-4r
c= & —r.

(2) Given the perimeter of the same triangle, and the
radius of the circumscribed circle ; find the sides,

a+b+c abc
2 4R’

a+b+c=28 2R=c,
a+b=28~2R,

b
=85, %=A=
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a®+ 2ab 4+ b° = 48* - 8SR + 41",
a* +b0'= 4R?;
.~ 2ab =48%- 8SR;
. a®*—2ab+b*=4R"+ 8SR — 487%;
ooa—b=,/(4R°+ 8SR - 48",
a+b=28-2R,
2a=28-2R + ,/(4R* + 8SR - 45%),
_28-2R +,/(4R’ + 8SR — 45°)
5 s
2b=28-2R~,/(4R* +8SR - 4S5°),
b=2S-—QR-,J(4~R’*+8SR—4-S’)
2 .

(8) If (D) and (d) be the diameters of the two circles,

and (a), (&) the sides which include the right angle; shew
that D+d=a+0.

AF + FC+CD + DB =1} + a,

AF = AE and BE = BD, rc
FC=rand DC=r; / N
+ AE+ BE+2r=a+}, A/‘/B_\B
but AE + EB=D.

Hence a+b=D+2r=D +d.
(4) The sides of a triangle are as 3, 5, 6; shew that
R 7 45: 16,

Rre abe __8.56  8.5.3 45
"=2@+b+c) 2(3+5+6) 3+5+6 14’

r-JM(i—Qﬁ_—czg J(7—3)(7;5)(7—®= /;
R< \/s 45
J" «4
R:r ::4‘45:':7 1.6.1‘“8,
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(5) If the side of a pentagon inscribed in a circle be 1,

G+

the radius=3Y" N2,
Here n=5, a=1,
. . T
perimeter = 5 = 2nr sin -
n

0
=2x57r sin 1%2,

*©. 1=2r sin 36°
=2r 's/(‘)-'s/5)
2,./2
NICIIViO
N

1
"=JG-75)
J2
_ N2
N/ CEN))
_N2J(5+5)
J(Qa— 5) ’
W25 +,/5)
/20 ’
NE+J5)
J10

Find the actual value of a side of a twenty-four
sided regular figure inscribed in a given circle.

5°
Here n=24. Put 4= 1—2—, 24 =15

o_n/3-1
sin 15°= ,J2



86 TRIGONOMETRY.

. . m
Perimeter = 2nr sin =
n

. 180°
=2 x 24r sin e

=2 x 247 sin 1?50,
but sinA:%{J(l +sin 24) - /(1 — sin 24)}
=%{~/ (197 -/ (-2}
- 1+ 25)- 6 45)
=2x12r{\/ 1+'~;3~/2 ) \/ 1-~/23J21)}

_ ,JS - 1) W3- 1
= 247’{ 2 ~/2 ) ~/¢, ’
but a_li“m_eﬁei'

a=24r\/( \/23J21> \// _J;N/;zl )
-/ (+55)- J 22N}

(7) If r be the radius of the inscribed circle,
area =r* (cot $4 + cot $ B + cot 3C).
By Euc. Book IV. Prop. 4,
¢0B4A=4B, :0C4=4C.
Now Ba=0acot3B, Ca=0acot}C;
*~a=0zacot3B+ OacotiC,
a=r(cot 3B +cot (),
b=r(cotid+cotiC),
c=r(coti4 +cotiB),
a+b+c=r(cot3 B+cot}C)
+r(cot 54 +cot 3C) + r(cot § 4 + cot 3 B),
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S=r(cot§B+ cot3C) +r(cot3 A+ cot4C)+r(cot 34 + cot B)
2 L3
=r(2cotéA+Qco;%B+ 2 cot § C)
—ar (cot 4 + cot $ B + cot 5 C)
2 2
S=r(cot3A+cotyB+cotiC).
But area=S8.r,
area=rr(cot3d+cot 3 B+cotiC);
*. area=7"(cot§ 4 +cot 3 B+ cot$0).
(8) The perimeters of an equilateral triangle, a square,
and a hexagon each including the same area, are as /27,
J16, 4/12.

Let each side of the » ABC at p. 82 =a, 3a = perimeter,

. (a\ 3a? CD.a
CD=\/a —<§> =\/T’ and g =areas;

CD.a

.. side of equal square =

SNV

\/— = perlmeter of square,

Area of A = CD'§ = i \/ \/

= area of square = area of hexagon Let x=side of hexagon.

na® =« 62 180° 6z° R
Areaofhexagon_T Cot ==~ Cot —=— = —— cot 80

_3 g [3a 272t 32 ‘= gt
6r*=at, z,/6=0a; .'.z=%—side of hexagon :

=a,/6=a,/3.,/2 = perimeter of hexagon :

GJ
3a : 22 Y3 : a J2.J8=Y27 : J16 : J12.
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(9) If O be the centre of the circle inscribed in the
triangle 4BC,
04°+ OB+ OC*=ab + ac + bc — 12 RRr.
See fig. page 59.
AO* =1+ AE* = * + 1 cot® } 4,
OB*=7*+ BF*=1r" 4+ r* cot’ %B,}
OC*=7"+ EC*=1*+ 7 cot’ {C,
A0+ OB* + OC* = 3r* + 1* (cot’i;-+ cot® g + cot’ g) ,
by Art. 21, and p. 55,
S(s—a) (s=10) (s—c)+ (s—a)(s-b) (s~c)
s s
{__i(._v—a) N s(s=10) . s(s—c)
T DR T M e yTer)
P Clal)) (“';") (=) | (s—a) + (s— B + (s — o)

3
= 85 — 3sa — 3sb + 3ub — 3sc + 3ac + 8bc - —(;bf

+s*~2sa+a’+s"—2sb + 1 + s* — 2sc + ¢*
=6s"— 55 (a+b+c)+a’+ b + ¢+ 2ab + 2ac
3ab
+26c+ab+ac+6c——‘fc-c
=6s"—55.25+(a+b+c)+ab+ac+bc—12Rr

= 62" — 105" + 45* + ab + ac + bc - 12Rr

=ab+ac+bc—12Rr;

.. AO* + OB*+ OC* = ab + ac + bc — 12Rr.

(10) The area of a regular hexagon inscribed in a circle
is a mean proportional between the areas of the inscribed
and circumscribed equilateral triangles.

3
Area of hexagon = % sin %’r
_67 sin 360°
B 6
= 37" sin 60°
3
=8r’ 2— .
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. . . nr® . 2w
Area of inscribed triangle = - sin—
8r* . 3860°
- sin —

2
=37 Gin120°

2
8 J3

= 3 _2_
=373
= 4 .

. . T
Area of circumscribed A = n7®tan 3

= 37% tan 60°
=3r",/3;
3r°./3 31, /3 _ 3r°/3
R i A 1 37,/8.

(11) The square of the side of a pentagon inscribed in
a circle is equal to the sum of the squares of the sides of a
regular hexagon and decagon inscribed in the same circle.
. . ™
Pentagon, perimeter = nx 4B = 2nr sin =i
0

AB=2rsin 1~§—°—= 27 sin 36°

N(E=5) _ NG =5)
2,/2 J2 o

AB’=('5—-:,/5—)rf.

=2r

. . k.
Hexagon, perimeter = AB, = 2nar sin T

0
AB,=2rsin IZQ =27 sin 30°

=2r—21-=r; o ABF =1
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. . 180°
Decagon, perimeter =n 4B, =2nrsin ——,

. 0° .
AB, =2rsin 11—80~~ =2rsin18°

5-1 5-1
o,

. :_(S—N/5)T.
.. AB =

"
— 2
4B 4 4B, =GN B2 /IHDT
= (5_“;_/Q’_' - AP

(12) Three equal circles touch each other; shew that the
space between them is nearly equal to the square described
upon a fifth part of the diameter; find the area when the
circles are unequal, and the radii as the numbers 1, 2, 3.

Let rad.=%diam. =1, m=231416,

arc mn = QLM()M& =5236x2

=10472.

Sector Amn = % rxarc mn = 5280 ;

.*. the area of the three sectors = 1:5708,
Cn'=AC*— 4An*; o Cn=,J(AC ~ An®)
= JAC 1) = J(4-1) = /3

AABC = AB; "~ 178205
Now the space mno = AABC — 3 sector Amn
=1'78205 - 1'5708 = -161.

Now the square described on % of the diam. = 21:5 =-16.
v

di

£
Hence space mno =< zm.> nearly.
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(18) Let rad. Co=1, Bo =2, Am=3, then the diameters
are 2, 4, 6; and the sides of the A4BC are

BC=3, AC=4, AB=5, .. AB'=AC*+ BC;

< ¢ C =90, sina="mp, “
log sin 4 =log BC -log AB +10, ‘
log3=-47712 Y .
log5= 69897 '
10

log sin 86°52'= 9-77815;
.. A4 =36"8666,

B =153"1333,
360° : 36866 :: 3'1416x6 : 1-9305 = arc mn,
'0305
sector Amn = 1_9_‘32_}_3 =2'8958,
360° : 53°133 :: 3'1416x4 : 1:8546 = arc no,
sector Bno = Ei;ﬁﬁ = 18546,
. ¢ o
circumference of @ moC _3 1416 %2 — 1-5708 = are mo,
4 4
1-5708 x 1
sector Com = ——-—75—1(— = 7854,
2'8058
1:8546
7854

sum of sectors = 55358
AABC=""" """ =—"=06;

.. space nmo=AABC — sum of sectors = '4642.

14) Given AB =q, BC=5, CD =c, three sides of a
quadrilateral, and  ABC=0, - BCD = ¢ ; shew that twice
the area = ab sin 0 + cb sin ¢ — ac (0 + ¢).
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Let ABCD be the quadrilateral. A B
From the point A draw ALK BC, el ”
and from the point D draw DFito AB /i~
or EC, Sl ¥
N\

then ¢b sin ¢ = 2ABCD, B s
and ab sin 0 = the figure ABCE
=0 ABFG+GFCE,
=204ABD+ QGFCE;
“ absin@+bcsing=2A(4ABD + BCD) + ] GFCE
=2quadri. + O GFCE
=2 quadri. + 2ADEC
= 2 quadri. + ac sin (¢ + 0);
*. ab sin 0 + be sin ¢ — ac sin (¢ + 0) =2 quadrilateral.
(15) If R and 7 be the radii of the circumscribed and
inscribed circles of a triangle:
r =4I sin §4 sin } B sin 1C.
See Ex. p. 86.
da+b+c)=r{cot I4 +cot 1B + cot 1C},
area =7° {cot {4 + cot } B + cot C},
but 14 + {B + 4C=90";
~. by Ex. 26, p. 45,
area = 7’ {cot 34 + cot 1 B + cot 1C}
=r’cot {4 cot i B cot §C.
And by Art. 22, Chap. III,, and formule, p. 55,
area = 2 R? sin 4sin B sin C
=4R*singd cos 54 2sin3B cos § B 2 sin 1C cos i
=16R*sin § A cos §4 sin { B cos $B sin 3C cos 4 C
=7r"cot$d cot §B cot $C
o cosg4 cosgBcosiC
sin 54 sin $ B sin §C’
” sinlé y sinlé 5 Binlé = 16R" sin 34 sin $ B sin 4C,

: ! = 16R” sin 3 sin 1B sin §C’;

r?— : = v
sin 4 sin §B sin 3C
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. 7 =16R" (sin 44 sin § B sin }C)*;
<. =48R sin 34 sin }B sin 1C.
(16) In the triangle ABC take a point D, join DA,

DB, DC; given AB, AC, the : ABD, : ACD, and : BDC,
find BC.
A

AB =a, 2t ABD = a,
{n@ é AC =0, £ ACD =3,
] ¢BDC =+,

B c
¢DBC+:DCB=m—y,
tABC + £ .ICB =(w—vy+a+/f3),
<« BAC =w—(r—y+a+p0),
¢ BAC =y—a-2,
BC=,/(AB* + AC* —24B.AC cos BAC),
BC = ,/{a*+ b"— 2ab cos (y — a = B)}.
(17) ABCD is the circumference of a r
circle, O its centre, from C draw a tangent to
the circle meeting the radius 04 produced,
in P, join PD; then if CP=a, DP=}, -~
0 = angle formed by DP and a tangent at D, -

a-b . . cyp
prove that r = —py cosec 0, r being the radius
of the circle. o
COP is a right-angled triangle ;
s OPP=d + 7, ~D.-

and in a ODP, the sides OD, DP, and « ODP are known.
. 0P2=b’+r’—26rcos<g+0>; .

at+ri=0%+1r"-2br cos <g+9),-
ooat- b0 =2brsin 0
a’*~b*  at-0*
r=s m} 5 = ——Q—b——— cosec 0.
(18) Given the three perpendiculars from the angles on
the opposite sides ; find the sides.
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Let AB=x, AD=y, BD=3, A

F
AC =a, BE=b, DF =, X
2a=cx=by=as, ]

2o=2,/{S(S-x)(S-y)(S-2)}; B ( D

o oz =2,/{8 (8- ) (S 4) (S =)}

=2\/(.r+,;/+z'_y+;—x'x+2z_y.z+';/_z)
) (G ) (e -2) (o5 D))

=$"’«/{< 2242 (5agon) (1+8-2) (145-2)),

\/{O*Z*Z)( 1)<1+___>(1+%_§)

z=\/{(l+2+: <6+__1>(1+5-3)<1+%—§)

Similarly,

" TETIE T
:\/{(l““a a)<b+__1)<1+-——)< g_;_')}

(19) Ifl=the base of a polygon, abc, &c., the sides
beginning from the base, a3y, &c., the angles made by
abc, &c., with the base, then

l=acosa+bcosfB+ccosy+ &

Let AB =1, from the upper angles Fig. 1.

draw lines perpendicular and parallel to
the base. Then (fig. 1),

Am = a cos a, mn =b cos 5,
no=c cos v, 0B =d cos J, A m  n o B

AB = Am + mn +no+oB=acosa+b cosB+ccosy+dcosd;
. l=acosa+bcosB+ccosy+ &

]

\\fd\—w—’\—v'-’
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Fig. 2.

Fig. 2. %’—n=cos(a-vr)=—cosa /\

- Am=acosa, mn=Am+ An=>5 cos 3,
no =c cosy, oB=d cos?, |
AB =— Am + Am + An + no+ oB m A n o B

=acosa+bcosB+ccosfB+&e.;
o l=acosa+bcosB+ccosy+ &e.

32. The two following rules may be found useful to
practical men ; the first is when two sides and the included
angle are given, and the second when the three sides are
given.
a+b tan}(4+ B)

a-b tani(4d-B)’
Hence the following rule:

As the sum of any two sides of a plane triangle is to
their difference, so is the tangent of half the sum of their
opposite angles to the tangent of half their difference.

By Art. 19,

By Art. 16, cos 4 =ég—t;b,c———i’ 3
oat-b=c*—2bccos 4
= C (c® - 2b cos 4),
(a+b)(a=b)=C(c—-2bcos A)=c (4D ~ DB),
cia+bua-b: AD~DB.

From this we have the following rule:

Take the longest side for the base ; then as the base is to
the sum of the other two sides, so is their difference to the
difference of the segments of the base.

Half the sum of the segments added to half their dif-
ference gives the greater segment, and half their difference
subtracted from half their sum gives the least.

The following logarithmic forms for right-angled tri-
angles may also be useful, although they are only the defi-
nitions at page 8 put into logarithms.

Referring to the figure, page 52, considering C to be a
right angle, we have by the definitions,
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a AC b BC a
= cosA=—~=E, tanA:}IC=Z'
in logarithms,

log a =log ¢ + log sin 4 — 10 = log b + log tan 4 — 10,
log b =log ¢ + log cos 4 - 10 = log a — log tan 4 — 10,
log ¢ =log a—logsin 4 + 10 = 10 + log a — log sin 4.

HEIGOHTS AND DISTANCES, ETC.

(1) In the year 1784, a base BC being measured on

Blackheath, of a mile in length, the angles of N
elevation of Lunardi’s balloon were taken, at A
the same time, by observers placed at its two .~ %"
extremities and in the middle; the one at v\\'
B being 46°10’, that at P 55°8’, and that at ,//“A

C 54°30’: required the height O4 of the bal- Y
loon.—Bonnycastle’s Trigonometry.

Investigalion.
By right-angled triangles,
AB=0Acot OBA ; AP=0Acot OPA; AC=0A cot 0CA.
Now AB*+ AC*=24P*+ 2BP?,
or AB*+ AC*-2AP*=2BP,
hence by substitution we have
04* cot* OBA + 04 cot* OCA —204* cot* OP4 =2BP?,
04° (cot? OBA + cot* OCA — 2 cot* OPA) = 2BP*;

Od*= 2B
~ cot? OBA + cot®* OCA — 2 cot® OPA’
04 =- BP /2

J{cot? OBA +cot? OCA—2 cot? OP A}’

(2) Observing an object O4 at a distance, I took its
angle of elevation OBA at the place where I
stood, and found it to be 50°23’; I then mea-
sured a distance PB of 60 yards, in the most ¢c_-"
convenient direction the ground afforded, and o
at this station found its elevation OPA4 to be P (/-
40°83’; after which I measured on, in the
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same line, 50 yards further to C, and at this place found its
elevation OC4 to be 30°49’; from which it is required to
determine the height of the object, and its distance from
each of the three stations B, P, C.

Investigation.

Since AB=0AcotOBA, AP=0A cot OPA, AC=04 cotOCA,

BP'+ AP-AB’

COSBPA=—_——2AP.BP

» and cos CAP, which is equal to
CP* + AP~ AC*

24dpP.CP °

. BP+ AP~ AB*  CP*+ AP -AC
BP B cpP ’
CP.AB*+BP.AC*-(CP+BP)AP’=(CP+BP).CP.BP;
.. by substitution we have
CP.0A4*cot* OBA+BP .04 cot’ OCA —(CP + BP) x
04’ cot* OP4 = (CP + BP).CP. BP, this reduced gives

04— «/CP cot’ 0BA + BP cot’ 0CA - (CP+BP) cot* OPA
B (CP+BP).CP.BP -

—cos BPA =~

(8) If the height of the mountain called the Peak of
Teneriffe be 2} miles, as it is very nearly, and the angle
taken at the top of it, as formed between a plumb-line and
a line conceived to touch the earth in the horizon,
or farthest visible point, be 88°2’; it is required
from these measures to determine the magnitude
of the whole earth, and the utmost distance that
can be seen on its surface from the top of the
mountain, supposing the form of the earth to be
perfectly globular?

Let EF represent the height of the mountain, ED the
tangent ¢ E = 88°2', DC a semidiameter of the earth.

Since EDC is a right angle, and 2 C=1°58', - CDF
=, CFD, each of which=89°1’, and « EFD =90° 59/, con-
Sequently kalh o al PN SN
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Then, as sin « EDF 0° 59’ ......... log ar. co. 9'765443
2 sin £ EFD 90°59" cecvvvvnininen log 9:999936
1t EF 2 miles «o.uvvvenaneennannnn. log 0'367977
: ED 18594 ccuiciiiiiininniinnnns log 2:183356

.04)8 .
And (Euc. 111 36) A359%"_ 0.5535 _ 7916 miles.
2:3333
(4) A point of land was observed, by a N B

ship at sea, to bear E. by S.; and after sail-
ing N.E. 12 miles, it was found to bear S.E.
by E. It is required to determine the place
of that headland, and the ship’s distance from

it at the last observation.

Let C be the point of land; A the former and B the
latter place of observation. In the triangle A BC are given
the angle 4 56°15, the angle B 101°15’, and the side AB
12 miles; consequently the angle C is 22° 30'.

Then, as sin 22°80’ 2 C ......... log. ar. co. 10°417160
1 8in56°15" £ A eeeeinannininianns log 9919846
 12miles 4B ...oooviiiennnnnne. log 1079181

: 26°0728 miles BC, distance required, log —1'416187

(5) A string passes round the circumferences of two
given circles, in the same plane, and at a given distance
from each other: required the length of the string.

Let GEIFDH represent the string touching the two
circles, draw from the centres B and O the radii BD, OF to
the points of tangence; these then being each perpendicular

D

F
[ Ny
NG B
Eiﬂa/
to FD are parallel to one another; through F draw FC
parallel to OB, then FC'= OB and FO = BC;
Let OB=14in., OF =1in., and BD = 8% in.
Now FD=,/FC*—DC*=,/OB*—~(BD - OF)’
=,/(14* - 7:5°) =1182159 ;
FD FD 1182159
FC OB~ 14

and sin FCD = = 844399 ;
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. ¢ FCD =+ OBC =+ IOF = £ 57°36'25".

Hence - DBH =180°- £ DBO = 180" - 57°36’25”
=122°23'35".

Then, as 860° : 57°86'25” :: 62832 (circumference of
the less circle) : 1:00543 =the arc FI. Also 360°: 122° 28’
35" :: 53:4072 (larger circum.): 1815742 =arc DH.

Hence IF + FD + DH = 30'08444, twice which, or
61:96888 inches = 5ft. 2in. nearly, is the length of the band.

(6) The side of a hill forms an inclined plane whose
angle of inclination is known; required the direction in
which a rail or other road must run along the side of the
hill, in order that it may have an ascent of 1 in every = feet.

(7) Wanting to know the height of an inaccessible tower;
at the least distance from it, on the same horizontal plane,
I took its angle of elevation equal to 58°; then going 300
feet directly from it, found the angle there to be only 32°;
required its height, and my distance from it at the first
station ? Height 307-53, distance 192-15 ft.

(8) Being on a horizontal plane, and wanting to know
the height of a tower placed on the top of an inaccessible
hill : T took the angle of elevation of the top of the hill 40°,
and of the top of the tower 51°; then measuring in a line
directly from it to the distance of 200 feet farther, I found
the angle at the top of the tower to be 83°45. What is the
height of the tower? 9333148 feet.

(9) From a window near the bottom of a house, which
seemed to be on a level with the bottom of a steeple, I took
the angle of elevation of the top of the steeple equal 40°;
then from another window, 18 feet directly above the former,
the like angle was 87°30’: required the height and distance
of the steeple? Height 21044, distance 25079 ft.

(10) Wanting to know the height of, and my distance
from, an object on the other side of a river, which appeared
to be on a level with the place where I stood, close by the side
of the river; and not having room to measure backward, in
the same line, because of the immediate rise of the bank,
I placed a mark where 1 stood, and measured in a direction
from the object, up the ascending ground, to the distance of .
264 feet, where. it was evident that I was above the level of

F2
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the top of the object; there the angles of depression were
found to be, viz., of the mark left at the river’s side 42°, of
the bottom of the object 27°, and of its top 19°. Required
the height of the object, and the distance of the mark from
its bottom ? Height 5726 ft., distance 15050 ft.

(11) Wanting to know my distance from an inaccessible
object O, on the other side of a river, and having no instru-
ment for taking angles, but only a chain or cord for measur-
ing distances, from each of two stations, A and B, which
were taken at 500 yards asunder, I measured in a direct line
from the object O, 100 yards, viz., AC and BD each equal
to 100 yards ; also the diagonal 4D measured 550 yards, and
the diagonal BC, 560. What was the distance of the object
from each station 4 and B? A0 53681 yds., BO 500°47 yds.

(12) The elevation of a tower is observed. At a station
(a) feet nearer, the elevation is the complement of the former ;
(b) feet nearer still, it is double the first elevation. Shew
that the height is

'\/{(a +b) — %g} .

(18) If the angles 4, B, C of a triangle AB( be as the
numbers 2, 3, 4 respectively; then

2cosA—a+c
2 b

(14) If in the three edges which meet at one angle of a
cube, three points 4, B, C be taken at distances a, 3, ¢ from
the angle respectively ; the area of the triangle 4 BC formed
by joining the three points with each other

L4

= W@+ a4 B,

(15) If the tangents of the angles of a plane triangle be

in a geometric progression, whose ratio is », shew that
sin 2C = n sin 24.

(16) If the tangents of the semiangles of a plane triangle
be in arithmetical progression, the cosines of the whole
angles will also be in arithmetical progression. If R and r
be the radii of the circles described about and inscribed in
the triangle 4 BC, then the area of the triangle

A= Rr(sin4 +sin B +sin C).
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(17) In a right-angled triangle, CD, CE are drawn from
the right angle C, making angles a, 3 with the hypothenuse ;
the area of the triangle

CDE = 112:2 (cota ~ cot 3).

(18) If a, B, v denote the lines bisecting the opposite
sides a, b, ¢ of any plane triangle, shew that

at+ 3 + o =l£6(a‘+b‘+ c*);
B+ By + yla’ = 1—96 (a*b* + b°¢* + c*a®).

(19) Let a, b, ¢ be the sides of a plane triangle, and
a, 3, v the lines bisecting the angles and terminating in the
opposite sides ; then will

aﬁfy_ 4(a+b+c)
abec (a+0b)(b+c)(c+a)

(20) Iflines be drawn from the angles of a plane triangle
to a point within it, so as to make equal angles with each
other, their sum will be represented by

J{a* = 2ab cos (C + 60°) + 4%},

(21) The squares of the sides of a plane triangle added
to the squares of the radii of the four circles respectively
touching these sides is equal to four times the square of the
circumscribing diameter ; required a demonstration.

(22) If a, b, ¢ be the sides of a triangle, and «, B, v the
perpendiculars upon them from the opposite angles, shew
that

x area of the triangle.

s o * be ab
o B o b ac

By  ay aﬂ_;lT+zi+-59—'

(23) If R be the radius of the circle circumseribed about
a given triangle ABC, and r the radius of the inscribed
circle, shew that

1 1—l{l—<sin’£+ sin’§+sin’g)}
4°'R 2 2 2 2/)°

(24) In any plane triangle, the square of the distance
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between the centre of the inscribed circle and the inter-
section of the perpendiculars
3 3
= 4R’_ QRT—*GJM.
a+b+c

(25) ABC is a plane triangle, P a point within it from
which the sides subtend equal angles, it is required to find
any number of such triangles having the sides, and the dis-
tances AP, BP, CP all expressed in whole numbers, (See
fig. page 71).

(26) If T (1) denote the sum of the angles of any
polygon, T'(3) the sum of all the products that can be made
by taking them by threes, 7'(5) the sum of all the products
that can be made by taking them by fives, and so on, then
supposing radius to be unity

T(1)=T(3)+ T (5)— T (7) + &e. =0.

(27) The sum of the diameters of the inscribed and cir-
cumscribing circles of any plane triangle is equal to

acot .4+ b cot B+ccotC.

(28) If a, b, c denote the sides and § the semiperimeter
of any plane triangle, the square of the line drawn from the
vertex to the lower extremity of the vertical diameter of
the circumscribing circle is

be (b +c)*
4S(8-a)°

(29) In a plane triangle let r be the radius of the in-
scribed circle, It, R’ and R” the radius of the three circles
touching the sides of the triangle externally ; then will

1 1 1 1
FTRYRTEY
required a demonstration.

(80) Let a, b, ¢ be the three sides of a triangle, and
r, 7', ", v’ the radii of the four circles which touch them,
then

ab+ac+be=rr’+ 1" £ v’ + 7 1 4 01,

that is, the sum of all the rectangles made by the binary
combinations of the sides is equal to the sum of all the rect-
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angles made by the binary combinations of the four radii of
the circles of contact,

(81) If from one of the angles of a regular polygon of
n sides, lines be drawn to all the angles, shew that their

0
sum =acosec'g:;)-, 2a being the length of a side of the

polygon.

(82) Having given three lines drawn from any point
within a square to three of its angular points, determine a
side of the square.

(83) The shadows of two vertical walls, which are at
right angles to each other, and are a and q, feet in height,
are observed when the sun is due south, to be b and b, feet
in breadth ; shew that if a be the sun’s altitude, and @ the
inclination of the first wall to the meridian,

B bs ab,
cota_'\/(?+a7), cotﬁ—a:g.

(84) The distance between the centres of two wheels = a,
and the sum of their radii =c; shew that the length of a
string which crosses between the two wheels and just wraps

round them
=2 {,j(a’— *)+ccos™ (— g)} .

(85) If an equilateral triangle have its angular points in
three parallel straight lines of which the middle one is dis-
tant from the outside ones by a and b, its side will be ex-
pressed by the following formula, viz.

2 2
side=2N/a—————-—~+ “3””’,

2
or 2 (a+b)'~ab

3
required the proof.

(86) The hypothenuse (¢) of a right-angled triangle
ABC is trisected in the points D, E: prove that if CD, CE
be joined, the sum of the squares of the sides of the triangle

CDE-%%,
3
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(87) Four places situated at unequal but given distances
in the same straight line, appear to a spectator in the same
plane with them to be at equal distances from each other;
find the position of the spectator.

(88) The area of a quadrilateral inscribed in a circle
=J{(§-a) (§-8)(S-¢) (S-d)}
(89) If D and D' be the diagonals of a quadrilateral
figure and ¢ their angle of intersection, then the

area = %D.D’ sin ¢.

CHAPTER V.
DEMOIVRE'S THEOREM.

33. This theorem, to which we give the name of the
French geometer that discovered it, is as follows:
(cos ¢ +./—1 sin¢)* = cosng + ,/— 1 sinng ...... (A).
It expresses that, to raise the binomial
cos ¢ +,/—1 sin ¢,
to any power whatever, it is sufficient to multiply the arc ¢
by the index of the power, we may either put the sign

+ or — before /-1,
for that is the same as changing ¢ into — ¢.

The case where the index is a positive whole number is
the first we shall proceed to consider.

By multiplication we find
(cos ¢ + /=1 sin ¢) (cos\ + /=1 sin )
= cos ¢ cos \» —sin ¢ sin\+,/—1 (sin ¢ cos - + cos ¢ sin ).
Now from the formule Art. 13, the real part of this
product is equal to cos (¢ + /), and the imaginary part is

equal to /= 1 sin (¢ + V) ; then
(cos ¢ + /=1 sin ¢) (cos ¥ + /=1 sin )
=cos (¢ + V) + /=1 sin (¢ + V).
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That is to say, by multiplying together the two ex-

pressions of the form cos ¢ +,/~1 sin ¢, we obtain a similar
expression, which contains the sum of the two arcs.

In order to multiply the product by a new factor of the
same form, it is sufficient to add the new arc to the other
two, and thus we may continue the operation to any number
of factors. Then, if we suppose that there are n factors, each

equal to cos ¢ + ./~ 1 sin ¢, it will become
(cos¢ + /=1 sin ¢)" = cos ngp + ./~ 1 sinng ...... (1.

Let us consider the case where the exponent is fractional.

In replacing ¢ by ?, the formula (1) becomes

cos%+~/— 1 sin §>n= cos ¢ + /- 1 sing,
and, by extracting the nth root, and putting a fractional
index in the place of the radical sign, the formula (4) will

. 1
be demonstrated for the index o for we have

(cos ¢ +,/—1 sin ¢)%= cos % +,/=1 sin ‘5— ......... (2).

Generally, the expression 4= signifies that we ought to
raise 4 to the mth power, and afterwards take the nth root

of the result. Consequently, if we raise cos ¢ +,/— 1 sin ¢
to the power m by the formula (1), and if afterwards we
extract the nth root by the formula (2), it will become

(cos ¢ + /=1 sin ¢)" = cos 7—”7‘2 +4/=1sin 7—’:8 veeee (3)
This is the formula (4) in which » is changed into any

positive fraction —.
n

Finally, when the index is negative, we observe that

(cos ng + /=1 sin n¢h) (cos ngp — /=1 sin n¢)
=cos*ng +sinnp=1;
F5
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and from this we find,

1 — .
- _ -=cosng — /-1 H
cos ng + /=1 sinng osng J sin ng
or which is the same thing, (by formula 1),

(cos ¢ + /= 1 sin ¢)™ = cos (~ n¢)
+J—1 Sin (= Bg) eveenennn (4),

since the cosine of a positive arc is the same as the cosine of
an equal arc taken negatively.

Thus, the formula (4) is true, when we take for » any
positive or negative number whatever.

We have not used irrational indices seeing that they are
not of any utility, as we cannot replace them by commen-
surable numbers, which however may differ therefrom as
little as we please. And as to imaginary indices, they are
not susceptible of any interpretation.

The formula (4), which is so simple and elegant, appears
to have a serious defect when the index is fractional. In fact,
the first member, being then equivalent to a radical expres-
sion, ought to have many values, whilst the second member
presents only one. The explanations which follow have for
their object to correct this imperfection,

Let us return to formula (2) in which 7 is a positive whole
number. From the principles of Algebra, the first member,
which is equivalent to 2/(cos¢ +,/=1 sin ¢), ought then to
have » different values ; and in order that the second may
give all of them, we shall shew that it will suffice to replace
¢ by all the arcs which have the same sines and cosines as ¢
itself. The general expression of these arcs is ¢ +kC, C
designating the whole circumference, and % any whole posi«
tive or negative integer number. By putting ¢ + £ C in the
place of ¢, the second member of formula (2) becomes,

o+kC . ¢p+kC
cos — +,/=15sin T e ().
And in this state, we say that it has precisely the same
values as the first member.
And first, since n is an integer, it is clear, from formula
(1), that by raising this second member to the power n, we

arrive again at the form cos ¢ +,/=1 sin ¢.
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In the second place, if we make successively k=0, k=1,
k=2.... k=mn—1, we obtain » different values;

In fact, let there be any two values,

+aC . +aC
cosf——n——+ -1 smg—n—,

— . P+

and cos«——-—q’ +AC +4/-1sin $+pRC 'GC;

n n
in which @ and 8 are integer numbers <z. In order that
they may be equal, it is necessary to have separately, an
equality between the real and the imaginary parts ; then the
¢ +aC and ¢ +3C
f n n
equal to one or more circumferences: but that difference,

(a=p)C

consequently the two values are unequal.

In the third place, if we take for £ other numbers than
0,1,2..... n —1, we shall find new values. In fact, all
the other positive or negative integer numbers may be repre-
sented by the formula ny + #/, ¥ being any integer number,
positive or negative, and »’ a positive integer <= ; moreover
by making k = ny + n’ the expression (5) becomes

cos (-;0' + ?iinﬁ’g) + /=1 sin (yC+ pin g),

n

difference of the two arcs ought to be

which is » s less than C, seeing that @ and 3 are<n:

or rather, suppressing the useless circumferences,

cos——————¢ +nn'C + J: sin (¢ +n’C);

n

and as n’ is a positive number <z, that value is compre-

hended under those we have obtained by putting
E=0,1,2 eeve n—1.

Thus the second member of the formula (2) will acquire

the generality, which it ought to have, if we take care to
have for the arc ¢ not only the arc ¢ itself, but also the arcs

¢+C, ¢+2C,.cc.. ¢+ (n—-1)C.
Formula (8), ought also to be interpreted in an analogous
manner, as we find by raising cos ¢ + /=1 sin ¢ to the
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mth power, and extracting the nth root of the result. The
formula (1), relating to the case of a whole positive index,
gives

(cos ¢ + /=1 sin ¢)™ = cos m¢p + ./~ 1 sin m,

and afterwards, for the nth root, the formula (2) gives

(cos ¢ + /=1 sin ¢) = cos -2 + J=1 sm—2

But in order that the second member may have the same
extension as the first, we must, after what we have already
explained, put m¢ + %C in the place of m¢ ; or, which is the
same thing, replace m¢ successively by

mep, mp+C, ...... m¢o+(n-—l)C’.

34. Formule for sin n¢, cos n¢g, and tan n¢. Referring
back to Demoivre’s formula,

cos ng + /= 1 sin ngp = (cos ¢ +,/= 1 sin ¢)" ......... (1),

in which we suppose » to be a positive integer. Changing
¢ into — ¢ it becomes

cos n¢ — /=1 sin n¢p = (cos ¢ — /=1 sin ¢)"...... (2).
Adding and subtracting (1) and (2),

(cos ¢ +,/~ 1 sin ¢p)" + (cos p -/~ 1 sin )’
g (8)

cos ngp =

(cos ¢ + /=1 sin ¢)"- (cos ¢ — /=1 sin ¢)

sin n¢p =

o (8).

Expanding by the binomial theorem, and suppressing
the terms which destroy each other, we obtain

cos n¢p = (cos p)* — (” 1) (cos @)™ (sin ¢)*

n(n—l)(n 2)(n—

1.2.8.4 5 (cos ) (sin 9)* - &e....(5),

sin n¢ = n(cos )™ sin ¢ — n(n li; (% 2) (cos @) (sin ¢)*

” (" - 1)1(”2'" 23)(: :) (” 4’) (COB ¢)"-’ (sin ¢)s_ &e. ..(6).
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These formule express the sine and cosine of the multiple
n¢ in terms of the sine and cosine of the simple arc ¢ : the
law of the terms is evident, and in the same manner as the
binomial formule from which they are derived, the terms
must be continued until we find a term equal to nothing.

To find tan n¢, we must divide (6) by (5),

ﬁ(n—l)(n—Q) 3
s_‘{lﬂ—tmmp_ntmq)— 9.8 ~“tan’ ¢ - &c.
cosng 1—~n(l";1)tan’¢+&c.

35. Development of the sine and cosine in a series.

From equations (5) and (6), Euler has deduced the
series which expresses the sine and cosine of an arc in terms
of the arc itself.

Retaining the supposition that » is a whole number, we
can dispose of ¢ in such a manner that n¢ may be equal to

any arc x; putting then n¢ =z, we have n= 2, and con-
sequently the equations (5) and (6) will become

)

L2E= D) (E=20)E=30) (e (S_"gi)‘_ &e....(1),

1.2.3.4
o= xon i (229) DD g (329

1.2.3

(z—9) (z—2¢) (x — 8¢) (x— 4¢) as (SN P\
» 2et) 1.2.3.4.5 (cos ¢) (T)

- &c....(2).
Let us now conceive ¢ to diminish to zero and = to in-
crease to infinity, then the above formule will preserve no
trace either of ¢ or of n, and will contain the arc z only.
When ¢ becomes zero, we have

cos¢ =1 and also -s—lg;g-:l.

Admitting that the powers of cos ¢ and of S0¢ pe also

equal to unity, however great the indices may be, the above
formulee become
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x* x* x°

cosz=l-12+1 5. 5.4 1.2.5.4.5.6" 6
. a® 28 . 27
sinz=z-1o ot a4 1.2.5.4.5.67 3¢

The following very sensible observations on these series
are made by a correspondent of the Mechanics Magazine.
(See No. 1256, pages 231, 232).

¢ Now to many students, who are not altogether without
thinking what they are about, and yet have not attained to
clear notions on the distinction between things themselves
and the numerical measures of those things—the above series
are a sad stumbling-block, and well they may be. The
reader who has these misty notions, naturally asks—¢ How
can a sine or cosine, which I know to be a number or ratio,
be expressed in terms of an angle, which I conceive to be
an opening ? How indeed! About the ne plus ultra of all
conceivable absurdities would be the following equation ;
sine of a certain opening

= that opening —% (cube of that opening)

+ &ec.

“The absurdity arises from considering the symbol (¢) as
standing for the Euclidian angle or opening, instead of for
a certain numerical fraction or ratio which measures that
angle, and which bears the same proportion to other frac-
tions (the measures of other angles), which the Euclidian
angles themselves do. Cos ¢ is really an abridgment for
cosine of that Euclidian angle the length of whose arc
bears the same proportion to the length of the radius, as the
number ¢ does to unity.’

“ Again, the use of these series is seldom seen, and be-
cause the series on the left hand side of the equation is
infinite in the number of its terms, the student is apt some-
times to conceive that an immense number of those terms
must be taken to get anything like a tolerably near value
for cos ¢ or sin¢. To obviate this fancy, and at the same
time to shew clearly the real nature of the equation, let us
take a numerical example and work it out. Suppose, then,
we endeavour to find the numerical value of the cosine of
30 degrees by means of the series. Here (¢) means
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length of arc subtending the angle of 30°
length of radius ’
and this is the first thing to find.

“ Now, we know that the length of the circumference of
a circle bears the proportion to its diameter of (=) to unity:
= being nearly equal to 3:1416. We have then

D

arcAB 30° 1 B
_.———=—;

1900 3

2

1

~oarcAB = 3 x @ quarter of the circum-

semi-circumference

ference, = 6 ;
. arcAB 1 semi-circumference _1 31416
* radius ~ 6° radius 87T 6

so that here (¢), is equal to -5236.

““Take only the first three terms of the series for cos ¢,
so that

1 1
0~ ]~ (" 2 (: 4
cos 30°= 1 2(5236) +24(5236) .

Keep only four places of decimals in multiplying, and the
second side becomes
=1- 0137078 + 0:003130 = *866052.

“Now turn to a table of natural sines, &c., and you will
find the cosine of 30° to be -8660254, which agrees with that
just found from the series up to the fifth place of decimals,
and differs less from it than the cosines of 80°1’, or 29°59’,
differ from the cosine of 50°.”

36. In the applications of the higher branches of mathe-
matics we often find it necessary to express (sin ¢)" and
(cos ¢)* in terms of the sine and cosine of the simple arc.
‘We proceed in the following manner :

Let cos ¢ +,/~1sing =z,

then cos¢—~/——lsin¢=%.
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By addition, 2cos p =2 + %,
. _— 1
and by subtraction, 2 ;/-— l1sing=x— r
< 2% (cos )" = (x + i)”

n-1 n 1
=.1:"+nx""+n( 5 )a:"“+...x—”3+;

= (collecting into pairs the terms equidistant from each ex-
tremity of the series)

1 1
(z"+;,,) (""+— ,) (—————)("‘“+;‘_—‘)+&c.
but {cos ¢ + ./ 1sin¢}" =cos np + /=1 sin ng = 2",
{cos ¢ — /=1 sin ¢p}" = cos n¢p — ./—Tsinnq;:;l;_ ,
by adding and subtracting, we have

2cos np ="+ — ,and 2,/—1 sin np = z—%

n
1 n—1
a:" + ?) +n (.z"‘" + 3:"") +n (.z"‘"‘ +

=2cosng + 2n.cos (n—2)¢+2nf;1— cos (n—4) ¢, &c.;

:_,) + &c.

<. 27 (cos @) =cosng + n cos (n~2) ¢

+at! cos (n—4) ¢, &c.;

the last term of the series being .

1 n—1 n-sn+1 .
—n( ) 3 , when 2 is even,

2 2 in
n-1 n—4(n-1)+1 .
andn( 5 ) 1-1) cos ¢, when = is odd.

From what has been given above, we have for the sine

— . — L1
2,,/—lsm¢=x—-;-, and 2,/ 1 sinng =& -
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(21 sin ) =(a- 1)" {“ (_ i)}

2y _'_‘_@2:_1) (— l)n ............ (a)

-G}l ( )H}
+ 1(—”2;12 {.1:"" 4 (';1)"} ............ ),

when 7 is even the series (b) becomes

1)ig sin"¢=(.z-"+ln)-—n(x""+—l,_—,

1
= (z“" x,_‘)

n—-1 n—4n+1
+(-l)’n—2— _}n

=2cosnp—-n. 2cos(n—2)¢+n1—1—;~12cos(n-—4)¢—

-1 n-dn+1,
R ;
o (= l)% 2*'sin" ¢ = cosn¢p —n cos (n - 2) ¢

! cos(n—4)p— ...

If n be odd, then (=T = /ST (V=T = (= 1)7 /=T

and the last term of (b) is

ey, m=1  a=d(-1+1( 1
("‘1)( Y - 2 vee ;(n 1) (-;)-
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Hence, when 7 is an odd number (5) becomes

(—])’2'- J—lsmqb -z'——-)—n("" .._)

n—l n—l _*)_

n—4

1), =1 n;%(n—l)ﬂ 2L
O i (e ( w)

=2./-1sinngp-n.2,/~1sin(n-2)¢+..

......

...... +(—1)'%‘nn;l n_i.((z:ll))+12~/——lsin¢;

n-1
s (1) 52 'sin"p=sinngp—mnsin(n-2)¢
+nn—;~1 sin(n-4)¢p—...

-1 p_1 — — .
n—%(n 1)+lsm¢.

(1) Sum the series
cos ¢ + cos 2¢ + cos 3 ¢ + &c. + cos ne.

The sum is equal to the two following series,

(z+2* + 2 + &c. + a”),

W| =t O =

1+1 + = +&c+l)
z
D ¥ i (x'~1))
"—.‘Z( +a:"(.r—l)

_1@-1) (@4 1) _ (“—) e "l)
2 a*(z-1)

x#
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Al AL
] H
Now, —— =\/ wl
f —— -

)
1~ cosls

ne
"\/ Sm?
1~ 9_¢.
cos 2

. n
sin "2

consequently the sum of the series is equal to

. ng
sin —-

2 o (n +1
- 9 X COS 2 ¢.
2
(2) Sum the series cosec ¢ + cosec 2 ¢ cosec 2°¢ to 1 terms.

cosec ¢ = cot % ~ cot ¢,

cosec 2¢ = cot ¢ — cot 29,
&e.

cosec 2" ¢ = cot 2" ¢ —cot 2" ¢ ;
hence, by addition,

cosec ¢ +cosec 2¢ + &c. cosec 2™ p=cot g cot 2" ¢
(3) Sum the series

1 1 1
~tang+ 2,tan$+ Qstang: + &c. to n terms.

Since tan % =cot -g -2 cot ¢,

115
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len® 1.t ®

h —~tanL =—cot X —

we have 2t:an2 2cot2 cot ¢,
1 1
2’“‘“%"?’““2’ gt

&corviiniiiin,

Tean2_1.ot® ¢
cltan2n=§v'lCOt§—2u-lctQﬂ-l

By addition we have the sum

1 ¢
—§;C0t§“—c0t¢.

(4) Sum the series sin ¢ + sin 2¢ + sin 3¢ + &c.

MISCELLANEOUS EXAMPLES.

(1) The square of the distance between the centres of
two of the escribed circles of a triangle exceeds the square
of the sum of their radii, by square of the opposite side of
the triangle.

(2) Let a, b, c be the three distances of a point from
three successive angles of a square field, then if § be the
side of the square, and A the area of the triangle, whose
sides are a, b,/2, c, it is required to prove that

S'=-é—(a’+c’)=&2A.

(3) The continued product of the radii of any three
circles mutually touching each other, divided by the radius
of the circle passing through their points of contact, gives
the area of the triangle formed by joining their centres.

(4) Shew that if there be inscribed in a circle a regular
figure, each of whose sides is an m™ part of the radius, the
secant of the angle at the centre subtending each side

2m?

Temo1
(5) Two regular polygons of the same number of sides
being described, the one within, and the other without, the
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same circle, what will be the number of sides, when the
whole space intercepted betmeen the two polygonal boun-
daries is an assigned part of either polygon? Ex. What
is the figure when the exterior area is } of the interior
polygon ?

(6) In a right-angled triangle, if the hypothenuse (c)
be divided into segments (z), (y) by the line which bisects
the right angle, and ¢ = the tangent of half the difference of
the acute angles, .

iy ul+ti 1=t

(7) To divide a given angle into two others, whose
sines shall be in the ratio of m : n.

(8) A circle is inscribed in an equilateral triangle, an
equilateral triangle in the circle, a circle again in the latter
triangle, and so on; if r, r, 7, 7, &c., be the radii of the
circles, shew that

r=r+7r.+r,+ &c.

(9) Ifa, b, c be the sides of a triangle, and p, q, r per-
pendiculars from a point within the triangle bisecting the

sides, prove that
(a b c> abe
(=4 -+-)="—.
P 9 r/ pyr

(10) It is required to determine the continued product
of n terms of the series

(sin ¢ cos -;—«p)% (sin %4) cos i o) (sin 41’ ¢ cos % o)

o 1.,
...... (sin P eos s )",

(11) The circumference of the inner of two concentric
circles, of which R and r are the radii, is divided into »
equal parts; shew that the sum of the squares of the lines
drawn from the points of division to any point in the cir-
cumference of the outer circle = n (R* + 7).

(12) The ratio between the area of an equilateral and
equiangular decagon described about a circle, and that of
another within the same circle, is equal to
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13) In a plane triangle ABC, having given the sum
of the sides AC, CB, the perpendicular from the vertex C
upon the base 4B; and the difference of the segments of
the base made by the perpendicular; find the sides of the
triangle.

(14) The length of a road in which the ascent is 1 foot
in 5, from the foot of a hill to the top is a mile and two-
thirds. What will be the length of a zigzag road, in which
the ascent is 1 foot in 12°?

(15) At each end of a horizontal base measured in a
known direction from the place of an observer, the angle
which the distance of the other end and a certain object
subtends is observed, as also the angle of elevation of the
object at one end of the base. Find its height and bearing.

(16) A staff one foot long stands on the top of a tower
200 feet high. Shew that the angle which it subtends at a
point in the horizontal plane 100 feet from the base of the
tower is nearly 651",

(17) Find the degrees, minutes, and seconds, in the
angle whose circular measure is *1; also the values of
cos mr and tan™ (—1)" (m an integer).

(18) Two circles have a common radius (r) and a circle
is described touching this radius and the two circles: prove

that the radius of the circle which touches the three = :Z—(:

(19) At noon a column in the E.S.E. cast upon the
ground a shadow, the extremity of which was in the direc-
tion N.E.: the angle of elevation of the column being a’,
and the distance of the extremity of the shadow from the
column (a) feet, determine the height of the column.

(20) Tan™! (j%—i—}) — tan™ (;712-) = 42
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(21) If A4, B, C be the angles of a triangle,

cosnA+cosnB+coan=1*4sin%sin7f§€sin%,
or =—1 *4003”'4 cos nB coan
B 2 2 27

according as n is odd or even.

(22) In a regular polygon of 7 sides inscribed in a ¢ircle
whose radius is (7), if a be the distance of any point from
the centre, and perpendiculars be drawn from this point upon
all the sides of the polygon, the sum of the squares of the
lines joining the feet of the adjacent perpendiculars is

n sin’ -2;; (r* +a’).

(28) Four objects situated at unequal but given dis-
tances in the same straight line, appear to a spectator in the
same plane with them to be at equal distances from each
other, it is required to determine his position.

(24) If &/, b’ be the segments of the hypothenuse made -
by a line bisecting the right angle, then
a’é: _a+?
W= @by
(25) A boy flying a kite at noon, when the wind was
blowing a® from the south, and the angular distance of the
kite’s shadow from the north was f°, the wind suddenly
changed to a,° from the south, and the shadow to 3,° from
the north, and the kite was raised as much above 45° as it
had before been below that elevation. Shew that 6° being
the angular elevation of the sun, and 45°— ¢° that of the
kite at first, ‘

‘oo sin Bsin 3
tant 0 = e = B) sin (a, = B))
sin (e ~f) sin B,

sin (a, - B,)sin B’

FINIS8.

tan® (45° - ¢°) =



ERRATA.

3
Page 42, line 8, for 3 read %

64 ... 4, the thick and thin line to be transposed.
96 Supply B in fig, 2, as in fig. 1.












